CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE:	June 8, 2021
PUBLIC HEARING DATE:	Not Applicable

CONTACT PERSON(S) NAME AND PHONE NUMBER:

DISTRICT(S) AFFECTED:	Sam Rodriguez, Chief Operations and Transportation Officer, Aviation Director and City Engineer, (915) 212-1845 Bruce D. Collins, Director of Purchasing & Strategic Sourcing, (915) 212-1181 4
STRATEGIC GOAL:	No. 4 - Enhance El Paso's Quality of Life through Recreational, Cultural and Educational Environments
SUBGOAL:	4.1 – Deliver bond projects impacting quality of life across the city in a timely, efficient manner

SUBJECT:

Discussion and action on the award of solicitation 2021-0762 Joey Barraza and Vino Memorial Park Phase II to PERIKIN ENTERPRISES, LLC. For an estimated award of \$4,791,485.32.

BACKGROUND / DISCUSSION:

The project consists of the addition of a dog park and one soccer field addition to the existing park. The improvements lie between Joey Barraza and Vino Memorial Park (formerly known as Northeast Regional Park) located at 11270 McCombs Drive and Redstone Park and includes minor modifications to Redstone Park to accommodate the improvements.

SELECTION SUMMARY:

Solicitation was advertised on January 26, 2021 and February 2, 2021. The solicitation was posted on City website on January 26, 2021. The email (Purmail) notification was sent out on January 28, 2021. There were a total one hundred fifty-three (153) viewers online; seven (7) bids were received; six (6) from local suppliers.

CONTRACT VARIANCE:

N/A

PROTEST

No protest received for this requirement.

PRIOR COUNCIL ACTION:

N/A

AMOUNT AND SOURCE OF FUNDING:

Amount: \$4,791,485.32 Funding Source: Parkland Dedication and Texas Wildlife Grant Account: 190-4800-29010-580270-PCP13PRKA23A 451-2670-51440-580270-GS51170033

HAVE ALL AFFECTED DEPARTMENTS BEEN NOTIFIED? _X_YES ___NO

DEPARTMENT HEAD: Michael J. Vonasek

Michael J. Vonasek, P.E.

For Assistant Director of Construction Sam Rodriguez, Chief Operations and Transportation Officer, Aviation Director and City Engineer

COUNCIL PROJECT FORM (Low Bid)

Please place the following item on the **REGULAR AGENDA** for the Council Meeting of **JUNE 8, 2021**.

STRATEGIC GOAL 4 – Enhance El Paso's Quality of Life through Recreational, Cultural and Educational Environments

The linkage to the Strategic Plan is subsection 4.1 - Deliver bond projects impacting quality of life across the city in a timely, efficient manner

Award Summary:

Discussion and Action on the award of solicitation 2021-0762 Joey Barraza and Vino Memorial Park Phase II to PERIKIN ENTERPRISES, LLC for an estimated award of \$4,791,485.32. The project consists of the addition of a dog park and one soccer field addition to the existing park. The improvements lie between Joey Barraza and Vino Memorial Park (formerly known as Northeast Regional Park).

Department:	Capital Improvement
Award to:	PERIKIN ENTERPRISES, LLC
	Albuquerque, NM
Item(s):	Base Bid I & Additive Alternate I
Initial Term:	300 Consecutive Calendar Days
Base Bid I:	\$1,568,772.02
Additive Alternate I:	\$3,222,713.30
Total Estimated Award:	\$4,791,485.32
Funding Source:	Parkland Dedication and Texas Wildlife Grant
Account:	190-4800-29010-580270-PCP13PRKA23A
	451-2670-51440-580270-GS51170033
District(s):	4

This is a Low Bid procurement, unit price contract.

The Purchasing & Strategic Sourcing and Capital Improvement Departments recommend award as indicated to PERIKIN ENTERPRISES, LLC, the lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

Work under this unit price contract is only an estimated value and will be ordered, performed, invoiced, and paid by measured quantity. The actual cost of this contract may be higher or lower than the total estimated value and will be the sum total of unit prices at the end of the contract term.

As a part of this award, upon the review of the City Attorney, the City Engineer may without further authorization from City Council approve contract changes which are necessary for proper execution of the work and carrying out the intent of the project, which are in accordance with applicable law, do not make changes to the prices and are within the appropriate budget.

	2021-0762 Joey Barraza and Vino Memorial Park Phase II Bid Tab Summary									
No.	Bidder Name	Base Bid I	Additive Alternate I	Sum Total (Base Bid I + Addtive Alternate I)						
1	Perikin Enterprises, Inc.	\$1,568,772.02	\$3,222,713.30	\$4,791,485.32						
2	Jordan Foster Construction LLC	\$1,673,700.00	\$3,946,807.00	\$5,620,507.00						
3	Karlsruher, Inc dba CSA Constructors	\$1,946,119.84	\$3,751,223.08	\$5,697,342.92						
4	Black Stallion Contractors, Inc	\$2,181,947.47	\$3,825,360.60	\$6,007,308.07						
5	Horizone I LTD	\$2,197,321.81	\$2,993,804.20	\$5,191,126.01						
6	Pride General Contractors, LLC	\$2,110,913.34	\$3,478,395.41	\$5,589,308.75						





	LE: Joey Barr E: April 28, 2		o Memorial Park Phase II				[BID NO: 2021-0762 pital Improvement
	•				Contractors, Inc.		struction I, LTD	Jordan Foster C	Construction, LLC
					aso, TX er 1 of 7		so, TX r 2 of 7		so, TX er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHEE	DULE: BASE BI	0			
1.	1	LS	Provide and Implement Approved Traffic Control Plan	\$16,675.00	\$16,675.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00
2.	1	LS	Provide and Implement Storm Water Pollution Prevention Plan (SWPPP)	\$43,700.00	\$43,700.00	\$12,130.00	\$12,130.00	\$7,000.00	\$7,000.00
3.	1	LS	Provide and Implement Clearing & Grubbing	\$10,925.00	\$10,925.00	\$14,250.00	\$14,250.00	\$45,000.00	\$45,000.00
4.	1	LS	Provide and Implement Earthwork & Grading (Including Over- Excavation & Swales)	\$86,250.00	\$86,250.00	\$106,300.00	\$106,300.00	\$55,000.00	\$55,000.00
5.	6,000	CY	Provide and Implement Soil Export	\$17.25	\$103,500.00	\$12.90	\$77,400.00	\$13.00	\$78,000.00
6.	1	LS	Provide and Implement Selective Demolition	\$103,500.00	\$103,500.00	\$13,750.00	\$13,750.00	\$6,000.00	\$6,000.00
7.	1	LS	Electrical & Lighting Improvements	\$224,250.00	\$224,250.00	\$380,700.00	\$380,700.00	\$350,000.00	\$350,000.00
8.	5,389	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed Fabric Underlayment	\$1.61	\$8,676.29	\$1.84	\$9,915.76	\$1.00	\$5,389.00
9.	5,110	SF	Provide and Install 1" Desert Tan or Rainbow Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.61	\$8,227.10	\$21.50	\$109,865.00	\$1.00	\$5,110.00





BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021 BID NO: 2021-0762 DEPARTMENT: Capital Improvement

	DELACIMENT. Sapital improvement									
				Black Stallion Contractors, Inc.		Horizone Construction I, LTD		Jordan Foster Construction, LLC		
				El Paso, TX		El Paso, TX		El Paso, TX		
							r 2 of 7	Bidder 3 of 7		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	
			UNIT	PRICE SCHED	DULE: BASE BI)				
10.	14,880	SF	Provide and Install Broom Finished Concrete - 4" Depth	\$6.33	\$94,190.40	\$4.32	\$64,281.60	\$5.00	\$74,400.00	
11.	2,860	LF	Provide and Install Concrete Curb Mow Strip	\$13.80	\$39,468.00	\$13.10	\$37,466.00	\$12.00	\$34,320.00	
12.	1	EA	Provide and Install 12ft Long 5ft Wide Pre- fabricated Bridge	\$34,500.00	\$34,500.00	\$9,200.00	\$9,200.00	\$25,000.00	\$25,000.00	
13.	2	EA	Provide and Install Park Name & Rules Sign	\$1,265.00	\$2,530.00	\$548.00	\$1,096.00	\$1,000.00	\$2,000.00	
14.	1	EA	Provide and Install Dog Park Rule Sign	\$1,150.00	\$1,150.00	\$542.00	\$542.00	\$1,200.00	\$1,200.00	
15.	3	EA	Provide and Install Dog Park Signs (Small, Big & Dangerous Dogs)	\$632.50	\$1,897.50	\$467.00	\$1,401.00	\$500.00	\$1,500.00	
16.	3,761	LF	Provide and Install - Chain Link Fencing 6ft high	\$65.55	\$246,533.55	\$75.20	\$282,827.20 Contractor's Price: \$284,707.70	\$42.00	\$157,962.00	
17.	24	EA	Provide and Install Chain Link Gates - 5 ft. wide, 6 ft. ht.	\$747.50	\$17,940.00	\$944.00	\$22,656.00	\$900.00	\$21,600.00	
18.	235	PR	Provide and Install Garden Rock Wall	\$201.25	\$47,293.75	\$176.00	\$41,360.00	\$140.00	\$32,900.00	





				El Pa	Contractors, Inc. Iso, TX er 1 of 7	Horizone Construction I, LTD El Paso, TX Bidder 2 of 7		Jordan Foster Construction, LLC El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHED	DULE: BASE BID	0			
19.	1,270	LF	Provide and Install Garden Rock Wall Footing	\$12.65	\$16,065.50	\$11.60	\$14,732.00	\$11.00	\$13,970.00
20.	3	EA	Provide and Install Pet Waste Station	\$977.50	\$2,932.50	\$650.00	\$1,950.00	\$500.00	\$1,500.00
21.	1	LS	Provide and Install Drinking Fountain	\$11,500.00	\$11,500.00	\$14,325.00	\$14,325.00	\$14,000.00	\$14,000.00
22.	3	EA	Provide and Install Bench	\$2,070.00	\$6,210.00	\$2,872.00	\$8,616.00	\$2,300.00	\$6,900.00
23.	3	EA	Provide and Install Trash Receptacle	\$2,070.00	\$6,210.00	\$2,991.00	\$8,973.00	\$3,400.00	\$10,200.00
24.	6	EA	Provide and Install Backstop Net for Field	\$8,625.00	\$51,750.00	\$9,769.75	\$58,618.50	\$3,200.00	\$19,200.00
25.	3	EA	Provide and Install Solar Light	\$20,700.00	\$62,100.00	\$15,250.00	\$45,750.00	\$24,000.00	\$72,000.00
26.	181,789	SF	Provide and Install Hybrid Bermuda Sod	\$1.15	\$209,057.35	\$1.25	\$227,236.25	\$1.00	\$181,789.00
27.	20	EA	Provide and Install Trees, 2" Caliper	\$609.50	\$12,190.00	\$690.00	\$13,800.00	\$350.00	\$7,000.00





	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II				[BID NO: 2021-0762 pital Improvement
	• •				Contractors, Inc. Iso, TX		struction I, LTD so, TX	Jordan Foster Construction El Paso, TX	
				Bidde	er 1 of 7	Bidde	r 2 of 7	Bidde	er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHED	DULE: BASE BI	5	1		
28.	250	SY	Provide and Install 6" Concrete Flume	\$82.80	\$20,700.00	\$52.65	\$13,162.50	\$150.00	\$37,500.00
29.	4	EA	Provide and Install 5ft Covered Flume Structure	\$2,875.00	\$11,500.00	\$1,600.00	\$6,400.00	\$5,000.00	\$20,000.00
30.	1	EA	Provide and Install Drop Inlet Type III - 3 Gate	\$8,050.00	\$8,050.00	\$8,625.00	\$8,625.00	\$9,000.00	\$9,000.00
31.	40	PR	12" Mortared Rock Rip-Rap	\$230.00	\$9,200.00	\$176.00	\$7,040.00	\$130.00	\$5,200.00
32.	207	LF	Provide and Install Storm System (42" Pipe)	\$230.00	\$47,610.00	\$147.00	\$30,429.00	\$180.00	\$37,260.00
33.	1	EA	Provide and Install Manhole (72")	\$9,200.00	\$9,200.00	\$10,150.00	\$10,150.00	\$8,500.00	\$8,500.00
34.	1	EA	Provide and Install Wing-wall Structure (42" Pipe)	\$5,750.00	\$5,750.00	\$4,135.00	\$4,135.00	\$11,200.00	\$11,200.00
35.	1	EA	Provide and Install 10' Depth Gauges	\$3,335.00	\$3,335.00	\$3,908.00	\$3,908.00	\$4,000.00	\$4,000.00
36.	80	LF	Provide and Install Fencing - Chain Link 4ft high	\$28.75	\$2,300.00	\$35.20	\$2,816.00	\$30.00	\$2,400.00





	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II				r		BID NO: 2021-0762 pital Improvement
	TE. April 20, 2	021		El Pa	Contractors, Inc. aso, TX er 1 of 7	El Pa	struction I, LTD so, TX r 2 of 7	Jordan Foster C El Pa	construction, LLC so, TX er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHED	DULE: BASE BI	5			
37.	1	EA	Provide and Install Chain Link Gates – 5ft Opening x 4ft High	\$644.00	\$644.00	\$815.00	\$815.00	\$700.00	\$700.00
38.	1	LS	Provide and Install New Irrigation System	\$345,000.00	\$345,000.00	\$389,500.00	\$389,500.00	\$220,000.00	\$220,000.00
39.	2	EA	Provide and Install Pre-Fabricated Building for IT/Irrigation and Electrical Equipment	\$74,750.00	\$149,500.00	\$58,600.00	\$117,200.00	\$12,000.00	\$24,000.00
40.				Left Blank	< Intentionally				
						\$2 177	,321.81		
		Sum Total -	- Base Bid (Items 1-40)	\$2,082	2,010.94		ce: \$2,179,202.31	\$1,613	3,700.00
	Mobilizatio	on (Not to exc	ceed 5% of Sum Total of Base Bid)	\$99,	936.53	\$20,0	000.00	\$60,000.00	
	Sum Total (Base Bid and Mobilization)			\$2,18 ⁻	1,947.47	\$2,197,321.81 Contractor's Price: \$2,199,202.31		\$1,673,700.00	
			Bid Bond		(es	Yes		Yes	
		Amendm	nents Acknowledged		/es	Yes		Yes	





BID NO: 2021-0762 BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021 **DEPARTMENT: Capital Improvement** Black Stallion Contractors, Inc. Horizone Construction I, LTD Jordan Foster Construction, LLC El Paso, TX El Paso, TX El Paso, TX Bidder 1 of 7 Bidder 2 of 7 Bidder 3 of 7 **Total Amount Total Amount** Total Amount (Quantity X (Quantity X (Quantity X Unit Price Unit Price) Unit Price Unit Price) **Unit Price** Unit Price) Item Approx. Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round (In Figures) Do Not Round (In Figures) Do Not Round **Only Two Only Two Only Two** Decimals Decimals Decimals Additive Alternate I Provide and Install Electrical & Lighting LS 1. 1 \$373,750.00 \$373,750.00 \$135,900.00 \$135,900.00 \$1,205,000.00 \$1,205,000.00 Improvements LS Earthwork and Grading - Cut to Fill \$74,750.00 \$85,000.00 2. \$74,750.00 \$50,900.00 \$50,900.00 \$85,000.00 1 LS Earthwork and Grading - Cut to Waste \$62.790.00 \$62,790.00 \$111.700.00 \$111.700.00 \$6.000.00 3. 1 \$6.000.00 Provide and Install 2" HMAC/5" Base 4. 5,480 SY \$24.15 \$132,342.00 \$18.66 \$102,256.80 \$25.00 \$137,000.00 Coarse/8" Scarified 135 SY Provide and Install Concrete Speed Table 5. \$115.00 \$15,525.00 \$67.05 \$9,051.75 \$180.00 \$24,300.00 582 LF Provide and Install 6" Standard Curb \$12.65 \$7,362.30 6. \$10.85 \$6,314.70 \$18.00 \$10,476.00 Provide and Install Broom Finished 7. 736 SY \$93.15 \$68,558.40 \$45.90 \$33,782.40 \$80.00 \$58.880.00 Concrete - 7" Depth 8. 6 EA Provide and Install ADA Ramp \$1.035.00 \$6.210.00 \$1.080.00 \$6.480.00 \$1.100.00 \$6.600.00 Provide and Install Pavement Marking 9. 7 EA \$345.00 \$2.415.00 \$583.00 \$4,081.00 \$80.00 \$560.00 (ADA Wheelchair Symbol)



16.

17.

2

270

EA

LF

CITY OF EL PASO REVISED BID TABULATION FORM



(Quantity X

Unit Price)

Only Two

Decimals

\$720.00

\$2,240.00

\$4,900.00

\$9,100.00

\$1,800.00

\$19,500.00

\$12,000.00

\$21,600.00

\$22,500.00

BID TITLE: Joev Barraza and Vino Memorial Park Phase II BID NO: 2021-0762 BID DATE: April 28, 2021 **DEPARTMENT: Capital Improvement** Black Stallion Contractors, Inc. Horizone Construction I, LTD Jordan Foster Construction, LLC El Paso, TX El Paso, TX El Paso, TX Bidder 1 of 7 Bidder 2 of 7 Bidder 3 of 7 **Total Amount Total Amount** Total Amount (Quantity X (Quantity X **Unit Price** Unit Price) Unit Price Unit Price) **Unit Price** Item Approx. Unit **Brief Description of Item** Quantity Do Not Round Do Not Round Do Not Round No. (In Figures) (In Figures) (In Figures) **Only Two** Only Two Decimals Decimals Additive Alternate I Provide and Install Pavement Marking 10. 6 EA \$345.00 \$2.070.00 \$935.00 \$120.00 \$5.610.00 (ADA Access Aisle) 11. 2.240 LF Provide and Install 4" Pavement Striping \$1.73 \$3.875.20 \$3.20 \$7,168.00 \$1.00 12. 7 EA Provide and Install Handicap Signage \$920.00 \$6,440.00 \$630.00 \$4,410.00 \$700.00 Provide and Install 12" Mortared PR 13. 70 \$241.50 \$16,905.00 \$157.50 \$11,025.00 \$130.00 Rock Rip-Rap 14. 30 SY Provide and Install 6" Concrete Rip-Rap \$138.00 \$4,140.00 \$85.80 \$2,574.00 \$60.00 Provide and Install 6" Reinforced 15. 130 SY \$74.75 \$9,717.50 \$44.50 \$5,785.00 \$150.00

Concrete Flume

Provide and Install 5.0' Covered

Flume Structure

Provide and Install 18" SantiTiteHP Pipe

\$5,750.00

\$18,630.00

\$31,050.00

\$1,535.00

\$34.50

\$696.00

\$3,070.00

\$9,315.00

\$6,264.00

\$6,000.00

\$80.00

\$2,500.00

\$2,875.00

\$69.00





	LE: Joey Barra E: April 28, 2		Memorial Park Phase II				[BID NO: 2021-0762 apital Improvement
	<u> </u>	•=-		Black Stallion	Contractors, Inc.	Horizone Con	struction I, LTD	Jordan Foster Construction, LLC	
				El Pa	iso, TX	El Pa	so, TX	El Pa	iso, TX
				Bidde	er 1 of 7	Bidde	r 2 of 7	Bidde	er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I	1	Γ	I	
19.	1	EA	Provide and Install 10' Pond Depth Gauge	\$3,335.00	\$3,335.00	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00
20.	1	EA	Provide & Implement Additional Stormwater Pollution Prevention	\$21,275.00	\$21,275.00	\$10,850.00	\$10,850.00	\$13,000.00	\$13,000.00
21.	1	LS	Provide & Implement Additional Traffic Control	\$9,775.00	\$9,775.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
22.	1	LS	Provide & Implement Additional Clearing & Grubbing	\$13,110.00	\$13,110.00	\$12,750.00	\$12,750.00	\$95,000.00	\$95,000.00
23.	1	LS	Provide Soil Export	\$238,004.00	\$238,004.00	\$56,300.00	\$56,300.00	\$3,000.00	\$3,000.00
24.	1	LS	Provide & Implement Selective Demolition	\$23,000.00	\$23,000.00	\$12,300.00	\$12,300.00	\$25,000.00	\$25,000.00
25.	2,270	LF	Provide and Install 6" Curb and Gutter	\$19.55	\$44,378.50	\$13.00	\$29,510.00	\$15.00	\$34,050.00
26.	582	LF	Provide and Install 6" Standard Curb	\$13.80	\$8,031.60	\$10.70	\$6,227.40	\$14.00	\$8,148.00
27.	15	EA	Provide and Install Concrete Parking Stop	\$172.50	\$2,587.50	\$224.30	\$3,364.50	\$130.00	\$1,950.00



BID TITLE: Joey Barraza and Vino Memorial Park Phase II

CITY OF EL PASO REVISED BID TABULATION FORM



BID NO: 2021-0762

	TE: April 28, 2						ſ	DEPARTMENT: Ca	pital Improvemen
	. ,			El Pa	Black Stallion Contractors, Inc. El Paso, TX Bidder 1 of 7		struction I, LTD so, TX r 2 of 7	Jordan Foster C El Pa	Construction, LLC Iso, TX er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
		1		Additive Al	ternate I			ł	
28.	40	LF	Provide and Install 18" High Rock Wall with Footing & Concrete Cap	\$74.75	\$2,990.00	\$20.00	\$800.00	\$45.00	\$1,800.00
29.	19,905	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed FabricUnderlayment	\$1.61	\$32,047.05	\$1.65	\$32,843.25	\$1.00	\$19,905.00
30.	21,310	SF	Provide and Install 3" Depth Grey Stabilized Screenings.	\$3.45	\$73,519.50	\$3.50	\$74,585.00	\$1.00	\$21,310.00
31.	19,295	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.61	\$31,064.95	\$1.60	\$30,872.00	\$1.00	\$19,295.00
32.	94,770	SF	Provide and Install 2"-4" AntiqueGrey Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.67	\$158,265.90	\$1.70	\$161,109.00	\$1.00	\$94,770.00
33.	8,840	SF	Provide and Install EngineeredWood Fiber 4" Depth	\$1.15	\$10,166.00	\$1.17	\$10,342.80	\$1.00	\$8,840.00
34.	6,298	SF	Provide and Install Engineered Wood Fiber 12" Depth	\$3.34	\$21,035.32	\$3.40	\$21,413.20	\$3.00	\$18,894.00
35.	1,040	SF	Provide and Install Synthetic Turfover Fall Surface and Sub Base	\$32.43	\$33,727.20	\$17.50	\$18,200.00	\$34.00	\$35,360.00
36.	6,659	SF	Provide and Install Poured-In- Place Playground Surfacing over Concrete Sub Base	\$28.18	\$187,650.62	\$32.25	\$214,752.75	\$30.00	\$199,770.00



F_____



	LE: Joey Barr E: April 28, 2		o Memorial Park Phase II				C		BID NO: 2021-0762
	• •			El Pa	Contractors, Inc. aso, TX er 1 of 7	El Pa	struction I, LTD so, TX r 2 of 7	Jordan Foster C El Pa	onstruction, LLC so, TX r 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I				
37.	511	SF	Provide and Install 12" Min. DepthSand Area	\$5.75	\$2,938.25	\$6.85	\$3,500.35	\$3.00	\$1,533.00
38.	44	LF	Provide and Install 24" Depth Concrete Curb Mow Strip	\$40.25	\$1,771.00	\$22.10	\$972.40	\$13.00	\$572.00
39.	17,500	SF	Provide and Install Broom Finished Concrete - 4" Depth	\$6.90	\$120,750.00	\$3.70	\$64,750.00	\$5.00	\$87,500.00
40.	1,120	SF	Provide and Install Bomanite Sandscape Finished Concrete 4" Depth	\$9.20	\$10,304.00	\$7.80	\$8,736.00 Contractor's Price: \$136,500.00	\$12.00	\$13,440.00
41.	8,210	SF	Provide and Install Salt Finished Concrete - 4" Depth	\$9.20	\$75,532.00	\$4.45	\$36,534.50 Contractor's Price: \$4,984.00	\$7.00	\$57,470.00
42.	1,953	LF	Provide and Install - Chain Link Fencing 6ft high	\$65.55	\$128,019.15	\$68.70	\$134,171.10	\$39.00	\$76,167.00
43.	2,000	LF	Provide and Install 8" Depth Concrete Curb Mow Strip	\$12.65	\$25,300.00	\$11.30	\$22,600.00	\$12.00	\$24,000.00
44.	8	EA	Provide and Install Chain Link Gates - 5 ft wide, 6 ft. ht.	\$747.50	\$5,980.00	\$875.00	\$7,000.00	\$900.00	\$7,200.00
45.	4	EA	Provide and Install Chain Link Gates - 5 ft wide, 8 ft. ht.	\$862.50	\$3,450.00	\$991.50	\$3,966.00	\$1,000.00	\$4,000.00





	-		o Memorial Park Phase II				-		BID NO: 2021-0762
BID DA	TE: April 28, 2	021		Black Stallion	Contractors, Inc.	Horizone Con	L struction I, LTD		onstruction, LLC
					iso, TX er 1 of 7		so, TX r 2 of 7	El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
		Γ		Additive Al	ternate I				
46.	733	LF	Provide and Install 4ft ht. Rockwall with Wrought Iron Fence (2'+2')	\$129.95	\$95,253.35	\$120.40	\$88,253.20	\$75.00	\$54,975.00
47.	2	EA	Provide and Install Wrought Iron Double Gates (2-5') - 10 ft wide 4ft. ht. and components	\$920.00	\$1,840.00	\$1,750.00	\$3,500.00	\$2,500.00	\$5,000.00
48.	2	EA	Provide and Install Wrought IronDouble Gates (2-6') - 12 ft wide 4 ft. ht.	\$1,092.50	\$2,185.00	\$83.30	\$166.60	\$1,600.00	\$3,200.00
49.	1	EA	Provide and Install Drinking Fountain	\$11,500.00	\$11,500.00	\$6,600.00	\$6,600.00	\$6,000.00	\$6,000.00
50.	4	EA	Provide and Install Bench	\$2,070.00	\$8,280.00	\$2,600.00	\$10,400.00	\$2,300.00	\$9,200.00
51.	1	EA	Provide and Install Trash Receptacle	\$2,070.00	\$2,070.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
52.	9	EA	Provide and Install Backstop Net for Field (65 ft. Length)	\$8,625.00	\$77,625.00	\$8,750.00	\$78,750.00	\$3,200.00	\$28,800.00
53.	6	EA	Provide and Install Distance Marker	\$862.50	\$5,175.00	\$356.50	\$2,139.00	\$600.00	\$3,600.00
54.	1	EA	Provide and Install ADA Compliant 3 Seats Picnic Table and Metal Canopy	\$14,950.00	\$14,950.00	\$15,050.00	\$15,050.00	\$13,000.00	\$13,000.00





	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II				[E DEPARTMENT: Ca	BID NO: 2021-076
				Black Stallion	Contractors, Inc.	Horizone Con	struction I, LTD	Jordan Foster C	onstruction, LLC
					aso, TX er 1 of 7		so, TX r 2 of 7	El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I				
55.	3	EA	Provide and Install 30'x30' Metal Canopy for Playground	\$61,525.00	\$184,575.00	\$54,400.00	\$163,200.00	\$60,000.00	\$180,000.00
56.	1	EA	Provide and Install Saddle Spinner Play Piece	\$1,610.00	\$1,610.00	\$1,630.00	\$1,630.00	\$1,500.00	\$1,500.00
57.	1	EA	Provide and Install Oodle Swing Play Piece	\$8,452.50	\$8,452.50	\$8,700.00	\$8,700.00	\$8,000.00	\$8,000.00
58.	1	EA	Provide and Install Omnisping Spinner Play Piece	\$12,650.00	\$12,650.00	\$12,770.00	\$12,770.00	\$12,000.00	\$12,000.00
59.	1	EA	Provide and Install Friendship Swing Play Piece	\$4,979.50	\$4,979.50	\$5,130.00	\$5,130.00	\$5,000.00	\$5,000.00
60.	1	EA	Provide and Install Geoplex Climbing Wall Play 3 Pieces	\$8,108.65	\$8,108.65	\$8,300.00	\$8,300.00	\$8,000.00	\$8,000.00
61.	1	EA	Provide and Install 4 Bay Swing Set Play Piece	\$10,131.50	\$10,131.50	\$10,300.00	\$10,300.00	\$10,000.00	\$10,000.00
62.	1	EA	Provide and Install Zipkrooz With Assisted Additional Bay Play Piece	\$34,155.00	\$34,155.00	\$995.00	\$995.00	\$32,000.00	\$32,000.00
63.	1	EA	Provide and Install Playbooster Play Structure	\$171,350.00	\$171,350.00	\$175,000.00	\$175,000.00	\$195,000.00	\$195,000.00





	LE: Joey Barr E: April 28, 2		o Memorial Park Phase II				Γ		BID NO: 2021-0762 apital Improvement
				Black Stallion	Contractors, Inc.	Horizone Cons	struction I, LTD	Jordan Foster C	Construction, LLC
					aso, TX		so, TX		iso, TX
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Bidde Unit Price (In Figures)	er 1 of 7 Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Bidde Unit Price (In Figures)	r 2 of 7 Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Bidde Unit Price (In Figures)	r 3 of 7 Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al			Decimais		Decimais
64.	1	EA	Provide and Install 2 Bay Toddler Swing Set Play Piece	\$2,760.00	\$2,760.00	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00
65.	1	EA	Provide and Install Elevated Sand Table Play Piece	\$4,715.00	\$4,715.00	\$4,780.00	\$4,780.00	\$4,500.00	\$4,500.00
66.	1	EA	Provide and Install Accessible Superscoop Play Piece	\$1,552.50	\$1,552.50	\$1,630.00	\$1,630.00	\$1,500.00	\$1,500.00
67.	3	EA	Provide and Install Cozy Domes Play Piece	\$8,050.00	\$24,150.00	\$8,165.00	\$24,495.00	\$7,000.00	\$21,000.00
68.	1	EA	Provide and Install Roller TablePlay Piece	\$18,170.00	\$18,170.00	\$18,660.00	\$18,660.00	\$16,000.00	\$16,000.00
69.	1	EA	Provide and Install Bobble RiderPlay Piece	\$1,874.50	\$1,874.50	\$1,925.00	\$1,925.00	\$1,700.00	\$1,700.00
70.	1	EA	Provide and Install Six Piece Rhapsody Instruments	\$32,200.00	\$32,200.00	\$32,600.00	\$32,600.00	\$28,000.00	\$28,000.00
71.	1	EA	Provide and Install Healthbeat Hand Cycler	\$5,175.00	\$5,175.00	\$5,300.00	\$5,300.00	\$5,000.00	\$5,000.00
72.	1	EA	Provide and Install Healthbeat TaiChi Wheels	\$4,485.00	\$4,485.00	\$4,500.00	\$4,500.00	\$4,000.00	\$4,000.00





	LE: Joey Barr TE: April 28, 2		Memorial Park Phase II				[BID NO: 2021-0762 pital Improvement
				El Pa	Contractors, Inc. aso, TX er 1 of 7	Horizone Construction I, LTD El Paso, TX Bidder 2 of 7		Jordan Foster Construction, I El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I				
73.	6	EA	Provide and Install Removable Bollards	\$1,380.00	\$8,280.00	\$1,458.00	\$8,748.00	\$1,300.00	\$7,800.00
74.	7	EA	Provide and Install Handicap Parking Sign	\$862.50	\$6,037.50	\$733.30	\$5,133.10	\$700.00	\$4,900.00
75.	228,862	SF	Provide and Install Hybrid Bermuda Sod	\$1.15	\$263,191.30	\$1.10	\$251,748.20	\$1.00	\$228,862.00
76.	168	EA	Provide and Install Shrubs, 5 Gal.	\$28.75	\$4,830.00	\$29.15	\$4,897.20	\$40.00	\$6,720.00
77.	132	EA	Provide and Install Trees, 2" Caliper	\$609.50	\$80,454.00	\$618.00	\$81,576.00	\$350.00	\$46,200.00
78.	1	EA	Provide and Install 4" Irrigation Meter	\$17,250.00	\$17,250.00	\$17,500.00	\$17,500.00	\$10,000.00	\$10,000.00
79.	1	LS	Provide and Install New Irrigation System	\$319,700.00	\$319,700.00	\$383,800.00	\$383,800.00	\$150,000.00	\$150,000.00
80.	1	LS	Provide and Install New Irrigation System	\$18,400.00	\$18,400.00	\$500.00	\$500.00	\$25,000.00	\$25,000.00
81.	1	LS	Provide and Install Plumbing for Pre-Fabricated Restroom	\$51,750.00	\$51,750.00	\$4,490.00	\$4,490.00	\$170,000.00	\$170,000.00





BID TIT	LE: Joey Barr	aza and Vino	Memorial Park Phase II					E	BID NO: 2021-0762
BID DA	TE: April 28, 2	021		•			[DEPARTMENT: Ca	pital Improvement
				Black Stallion	Contractors, Inc.	Horizone Cons	struction I, LTD	Jordan Foster Construction, LL	
					aso, TX er 1 of 7		so, TX r 2 of 7		iso, TX er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I				
82.				Left Blank	<pre>c Intentionally</pre>				
	Su	n Total – Add	itive Alternate I (Items 1-82)	\$3,650	0,153.24	\$2,948	,804.20	\$3.82	1,807.00
				Contractor's Pri	ce: \$3,650,153.00	Contractor's Price	e: \$3,045,017.70	<i>vo</i> ,o <u>-</u>	.,
	Mobilizati	on (Not to exc	eed 5% of Sum Total of Base Bid)	\$175,207.36		\$45,000.00		\$125,	,000.00
	Sum	Total (Additiv	e Alternate I and Mobilization)	\$3,825,360.60		\$2,993,804.20 Contractor's Price: \$3,090,017.70		\$3,946,807.00	





			o Memorial Park Phase II				-		BID NO: 2021-0762	
BID DA	.TE: April 28, 2	.021		El Pa	Contractors, Inc. Iso, TX er 1 of 7	El Pa	truction I, LTD so, TX r 2 of 7	DEPARTMENT: Capital Improvemen Jordan Foster Construction, LLC El Paso, TX Bidder 3 of 7		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	
				Additive Alt	ernate II					
1.	1	LS	Provide and Implement Additional Clearing & Grubbing	\$4,600.00	\$4,600.00	\$18,000.00	\$18,000.00	\$45,000.00	\$45,000.00	
2.	1	LS	Provide and Implement Additional Approved Traffic Control	\$5,750.00	\$5,750.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	
3.	1	LS	Provide and Install Electrical & Lighting Improvements	\$1,914,261.25	\$1,914,261.25	\$1,300,000.00	\$1,300,000.00	\$2,150,000.00	\$2,150,000.00	
4.	1	LS	Provide Earthwork and Grading -Cut to Fill	\$44,275.00	\$44,275.00	\$63,135.00	\$63,135.00	\$85,000.00	\$85,000.00	
5.	1	LS	Provide Earthwork and Grading -Cut to Waste	\$55,775.00	\$55,775.00	\$132,300.00	\$132,300.00	\$5,000.00	\$5,000.00	
6.	30	LF	Provide and Install Storm Drainage Improvements - 12"SantiTiteHP Pipe	\$115.00	\$3,450.00	\$145.25	\$4,357.50	\$60.00	\$1,800.00	
7.	2	EA	Provide and Install Storm Drainage Improvements - SafetyEnd Treatment	\$3,450.00	\$6,900.00	\$1,070.00	\$2,140.00	\$2,500.00	\$5,000.00	
8.	1	LS	Provide and Implement Additional Stormwater Pollution Prevention	\$5,750.00	\$5,750.00	\$12,500.00	\$12,500.00	\$5,000.00	\$5,000.00	
9.	1	LS	Provide Soil Export	\$152,950.00	\$152,950.00	\$72,500.00	\$72,500.00	\$2,000.00	\$2,000.00	





	LE: Joey Barr TE: April 28, 2		Memorial Park Phase II				[BID NO: 2021-0762 pital Improvement
					Contractors, Inc. aso, TX		struction I, LTD so, TX		construction, LLC so, TX
					er 1 of 7		r 2 of 7		er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ternate II	1	T	1	
10.	1	LS	Provide and Implement Selective Demolition	\$5,175.00	\$5,175.00	\$14,100.00	\$14,100.00	\$3,000.00	\$3,000.00
11.	15,805	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed Fabric Underlayment	\$1.61	\$25,446.05	\$1.90	\$30,029.50	\$1.00	\$15,805.00
12.	200	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.76	\$352.00	\$2.00	\$400.00	\$1.00	\$200.00
13.	11,540	SF	Provide and Install Engineered Wood Fiber, 12" Depth	\$3.34	\$38,543.60	\$4.00	\$46,160.00	\$3.50	\$40,390.00
14.	5,720	SF	Provide and Install Broom Finished Concrete 4" Depth	\$6.33	\$36,207.60	\$4.60	\$26,312.00	\$6.00	\$34,320.00
15.	5,050	SF	Provide and Install Bomanite Sandscape Finished Concrete 4" Depth	\$9.20	\$46,460.00	\$5.00	\$25,250.00	\$10.00	\$50,500.00
16.	1,860	SF	Provide and Install Salt Finished Concrete - 4" Depth	\$9.20	\$17,112.00	\$4.65	\$8,649.00	\$5.00	\$9,300.00
17.	1,660	LF	Provide and Install - Chain Link Fencing 6ft high	\$65.55	\$108,813.00	\$79.50	\$131,970.00	\$38.00	\$63,080.00
18.	1,750	LF	Provide and Install 8" Depth Concrete Curb Mow Strip	\$13.80	\$24,150.00	\$13.50	\$23,625.00	\$13.00	\$22,750.00





	LE: Joey Barr E: April 28, 2		o Memorial Park Phase II					DEPARTMENT: Ca	BID NO: 2021-0762 apital Improvement
				El Pa	Contractors, Inc. aso, TX er 1 of 7	El Pa	struction I, LTD so, TX r 2 of 7	Jordan Foster Construction, LLC El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate II				
19.	4	EA	Provide and Install Chain Link Gates - 5 ft wide, 6 ft. ht.	\$747.50	\$2,990.00	\$1,070.00	\$4,280.00	\$800.00	\$3,200.00
20.	2	EA	Provide and Install Chain Link Gates - 10 ft wide, 6 ft. ht.	\$1,495.00	\$2,990.00	\$2,475.00	\$4,950.00	\$1,200.00	\$2,400.00
21.	1	EA	Provide and Install ADA Compliant 3 Seats Picnic Table and Metal Canopy	\$15,582.50	\$15,582.50	\$18,200.00	\$18,200.00	\$14,000.00	\$14,000.00
22.	1	EA	Provide and Install 4 Seats Picnic Table and Metal Canopy	\$16,100.00	\$16,100.00	\$18,500.00	\$18,500.00	\$15,000.00	\$15,000.00
23.	6	EA	Provide and Install Aluminum Bleachers with Galvanized SteelChain Link Guardrail	\$8,280.00	\$49,680.00	\$9,625.00	\$57,750.00	\$7,500.00	\$45,000.00
24.	3	EA	Provide and Install Trash Receptacle	\$2,070.00	\$6,210.00	\$1,335.00	\$4,005.00	\$3,000.00	\$9,000.00
25.	32	EA	Provide and Install Shrubs, 5 Gal.	\$28.75	\$920.00	\$33.45	\$1,070.40	\$40.00	\$1,280.00
26.	76	EA	Provide and Install Trees, 2"Caliper	\$609.50	\$46,322.00	\$709.00	\$53,884.00	\$350.00	\$26,600.00
27.	210,090	SF	Provide and Install HybridBermuda Sod	\$1.15	\$241,603.50	\$1.27	\$266,814.30	\$1.00	\$210,090.00





	LE: Joey Barra E: April 28, 2		Memorial Park Phase II				C		BID NO: 2021-0762
				Black Stallion	Contractors, Inc.	Horizone Construction I, LTD		Jordan Foster Construction, LLC	
				El Paso, TX		El Paso, TX		El Paso, TX	
				Bidder 1 of 7		Bidder 2 of 7		Bidde	r 3 of 7
ltem No.	'' Unit Brief Description of Item		Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Total Amount (Quantity X Unit Price Unit Price) (In Figures) Do Not Round Only Two Decimals		(Quantity) Unit Price Unit Price		
				Additive Alt	ernate II				
28.	1	LS	Provide and Install IrrigationSystem Additions	\$283,475.00	\$283,475.00	\$329,500.00	\$329,500.00	\$175,000.00	\$175,000.00
29.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$151,768.49	\$151,768.49	\$6,700.00	\$6,700.00	\$40,000.00	\$40,000.00
	Sun	n Total – Addi	itive Alternate II (Items 1-29)	\$3,313	3,611.99	\$2,681	,081.70	\$3,082	2,715.00





	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II				C		BID NO: 2021-0762
				Black Stallion	Contractors, Inc.	Horizone Cons	struction I, LTD	Jordan Foster C	construction, LLC
					aso, TX er 1 of 7		so, TX r 2 of 7	El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate III	1	Γ		
1.	1	LS	Provide and Install Pre-Fabricated Restroom Building and Foundation	\$74,750.00	\$74,750.00	\$70,000.00	\$70,000.00	\$240,000.00	\$240,000.00
2.	775	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.98	\$1,534.50	\$3.00	\$2,325.00	\$1.50	\$1,162.50
3.	400	SF	Provide and Install Broom Finished Concrete -4" Depth	\$6.33	\$2,532.00	\$10.00	\$4,000.00	\$6.00	\$2,400.00
4.	40	LF	Provide and Install 18" High RockWall with Footing & Concrete Cap	\$74.75	\$2,990.00	\$87.75	\$3,510.00	\$40.00	\$1,600.00
5.	1	EA	Provide and Install Drinking Fountain	\$28,750.00	\$28,750.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00
6.	1	LS	Provide and Install Electrical to supply Pre-Fabricated Restroom	\$39,100.00	\$39,100.00	\$12,500.00	\$12,500.00	\$8,000.00	\$8,000.00
7.	1	LS	Provide and Install Plumbingimprovements to supply Pre-Fabricated Restroom	\$51,750.00	\$51,750.00	\$9,600.00	\$9,600.00	\$30,000.00	\$30,000.00
8.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$10,302.31	\$10,302.31	\$8,700.00	\$8,700.00	\$16,000.00	\$16,000.00
9.	1	LS	Provide and Implement Additional Approved Traffic Control	\$4,025.00	\$4,025.00	\$4,400.00	\$4,400.00	\$2,000.00	\$2,000.00





BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021

BID NO: 2021-0762 DEPARTMENT: Capital Improvement

	DEPARTMENT: Capital Improvement										
				Black Stallion	Contractors, Inc.	Horizone Construction I, LTD		Jordan Foster Construction, LL			
				El Pa	aso, TX	El Pa	so, TX	El Paso, TX			
				Bidde	er 1 of 7	Bidde	er 2 of 7	Bidder 3 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Additive Alt	ernate III						
10.	1	LS	Provide and Install IrrigationSystem Additions	\$9,200.00	\$9,200.00	\$14,100.00	\$14,100.00	\$12,000.00	\$12,000.00		
						•		· · · · ·			
	Sum	n Total – Addi	itive Alternate III (Items 1-10)	\$224,933.81		\$139,135.00		\$319,162.50			





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID DA	TE: April 28, 2	2021							apital Improvement
				El Pa	Contractors, Inc. aso, TX er 1 of 7	El Pa	struction I, LTD Iso, TX er 2 of 7	El Pa	Construction, LLC Iso, TX er 3 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate IV				
1.	1	EA	Provide and Install Healthbeat Elliptical	\$13,156.00	\$13,156.00	\$18,700.00	\$18,700.00	\$16,000.00	\$16,000.00
2.	1	EA	Provide and Install Healthbeat Pull Up Dip	\$3,973.25	\$3,973.25	\$5,700.00	\$5,700.00	\$4,000.00	\$4,000.00
3.	1	EA	Provide and Install Healthbeat Chest/Back Press	\$9,349.50	\$9,349.50	\$13,300.00	\$13,300.00	\$9,000.00	\$9,000.00
4.	1	EA	Provide and Install Healthbeat Balance Steps	\$4,715.00	\$4,715.00	\$6,650.00	\$6,650.00	\$5,000.00	\$5,000.00
5.	1	EA	Provide and Install Healthbeat Squat Press	\$9,372.50	\$9,372.50	\$13,250.00	\$13,250.00	\$9,000.00	\$9,000.00
6.	1	EA	Provide and Install Healthbeat ABCrunch/Leg Lift	\$3,910.00	\$3,910.00	\$5,525.00	\$5,525.00	\$4,000.00	\$4,000.00
7.	1	EA	Provide and Install Healthbeat Cardio Stepper	\$11,730.00	\$11,730.00	\$16,575.00	\$16,575.00	\$12,000.00	\$12,000.00
8.	1	EA	Provide and Install Healthbeat Plyometrics	\$4,715.00	\$4,715.00	\$6,660.00	\$6,660.00	\$5,000.00	\$5,000.00
9.	1	EA	Provide and Install Fitcore Globed Grasp Overhead	\$7,245.00	\$7,245.00	\$6,660.00	\$6,660.00	\$7,000.00	\$7,000.00





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID DA	TE: April 28, 2	021					Γ	DEPARTMENT: Ca	apital Improvement
				Black Stallion Contractors, Inc. El Paso, TX Bidder 1 of 7		El Pa	struction I, LTD Iso, TX er 2 of 7	Jordan Foster Construction, LLC El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate IV				
10.	1	EA	Provide and Install Angled Overhead Ladder	\$9,315.00	\$9,315.00	\$13,100.00	\$13,100.00	\$9,000.00	\$9,000.00
11.	1	EA	Provide and Install Fitcore WheelBridge Overhead	\$6,095.00	\$6,095.00	\$8,600.00	\$8,600.00	\$6,000.00	\$6,000.00
12.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$4,149.66	\$4,149.66	\$4,100.00	\$4,100.00	\$4,000.00	\$4,000.00
13.	1	LS	Provide and Implement Additional Approved Traffic Control	\$2,875.00	\$2,875.00	\$4,100.00	\$4,100.00	\$1,000.00	\$1,000.00
	Sum	n Total – Addi	tive Alternate IV (Items 1-13)	\$90,	600.91	\$122	920.00	\$91,	000.00





	LE: Joey Barı TE: April 28, 2		o Memorial Park Phase II				[BID NO: 2021-0762 Apital Improvemen
				Black Stallion Contractors, Inc. El Paso, TX Bidder 1 of 7		Horizone Construction I, LTD El Paso, TX Bidder 2 of 7		Jordan Foster Construction, LLC El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ternate V				L
1.	1	LS	Provide Earthwork and Grading	\$13,800.00	\$13,800.00	\$25,100.00	\$25,100.00	\$10,000.00	\$10,000.00
2.	1	LS	Provide and Implement Selective Demolition	\$5,175.00	\$5,175.00	\$13,750.00	\$13,750.00	\$2,000.00	\$2,000.00
3.	1	LS	Provide and Implement AdditionalTraffic Control	\$8,625.00	\$8,625.00	\$10,800.00	\$10,800.00	\$1,000.00	\$1,000.00
4.	7,675	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.61	\$12,356.75	\$1.95	\$14,966.25	\$1.00	\$7,675.00
5.	7,205	SF	Provide and Install 2"-4" AntiqueGrey Rock Mulch, 4" Depth with Weed Fabric Underlayment	\$3.11	\$22,407.55	\$3.85	\$27,739.25 Contractor's Price: \$27,096.25	\$1.00	\$7,205.00
6.	215	LF	Provide and Install - Chain Link Fencing 6ft high	\$65.55	\$14,093.25	\$83.50	\$17,952.50	\$42.00	\$9,030.00
7.	343	LF	Provide and Install 8" Depth Concrete Curb Mow Strip	\$13.80	\$4,733.40	\$15.90	\$5,453.70	\$15.00	\$5,145.00
8.	2	EA	Provide and Install Chain Link Gates - 5 ft wide, 6 ft. ht.	\$747.50	\$1,495.00	\$1,150.00	\$2,300.00 Contractor's Price: \$4,600.00	\$950.00	\$1,900.00
9.	4	EA	Provide and Install Chain Link Gates - 15 ft wide, 6 ft. ht.	\$2,300.00	\$9,200.00	\$3,020.00	\$12,080.00	\$1,700.00	\$6,800.00





BID TITLE: Joey Barraza and Vino Memorial Park Phase II

	TE: April 28, 2						I		apital Improvement
				Black Stallion Contractors, Inc. El Paso, TX Bidder 1 of 7		Horizone Construction I, LTD El Paso, TX Bidder 2 of 7		Jordan Foster Construction, LLC El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ternate V			•	1
10.	2	EA	Provide and Install Chain Link Gates - 5 ft wide, 8 ft. ht	\$862.50	\$1,725.00	\$1,295.00	\$2,590.00	\$1,000.00	\$2,000.00
11.	27	EA	Provide and Install Shrubs, 5 Gal.	\$28.75	\$776.25	\$36.00	\$972.00	\$40.00	\$1,080.00
12.	9	EA	Provide and Install Trees, 2"Caliper	\$609.50	\$5,485.50	\$760.00	\$6,840.00	\$350.00	\$3,150.00
13.	9,040	SF	Provide and Install HybridBermuda Sod	\$1.15	\$10,396.00	\$1.35	\$12,204.00	\$1.00	\$9,040.00
			Remove and Relocate Existing Rock at Skate		\$36,386,000.00				
14.	9,040	LS	Park	\$4,025.00	Contractor's Price: \$4,025.00	\$0.90	\$8,136.00	\$2.00	\$18,080.00
15.	1	LS	Provide and Install IrrigationSystem Additions	\$16,215.00	\$16,215.00	\$20,200.00	\$20,200.00	\$40,000.00	\$40,000.00
16.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$6,264.42	\$6,264.42	\$7,200.00	\$7,200.00	\$6,000.00	\$6,000.00
				¢00 54	0 740 40	¢400	202 70	1	
	Sun	n Total – Add	litive Alternate V (Items 1-16)		18,748.12 rice: \$136,773.12	\$188,283.70 Contractor's Price: \$189,890.70		\$130,105.00	





	LE: Joey Barr E: April 28, 2		Memorial Park Phase II						BID NO: 2021-0762 Apital Improvement
	F,			Black Stallion Contractors, Inc. El Paso, TX Bidder 1 of 7		Horizone Construction I, LTD El Paso, TX Bidder 2 of 7		Jordan Foster Construction, LLC El Paso, TX Bidder 3 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			1	Additive Alt	ernate VI				
1.	1	LS	Provide and Install New Prefabricated Office/Maintenance Building	\$74,750.00	\$74,750.00	\$57,900.00	\$57,900.00	\$590,000.00	\$590,000.00
2.	1	LS	Earthwork and Grading - Cut to Fill	\$14,375.00	\$14,375.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00
3.	1	LS	Earthwork and Grading - Cut to Waste	\$9,775.00	\$9,775.00	\$20,500.00	\$20,500.00	\$4,000.00	\$4,000.00
4.	15	PR	Standard Rockwall	\$230.00	\$3,450.00	\$223.00	\$3,345.00	\$140.00	\$2,100.00
5.	100	LF	Standard Rockwall Footing	\$63.25	\$6,325.00	\$22.30	\$2,230.00	\$10.00	\$1,000.00
6.	1	LS	Provide and Implement Additional Stormwater Pollution Prevention	\$5,750.00	\$5,750.00	\$10,200.00	\$10,200.00	\$1,000.00	\$1,000.00
7.	1	LS	Provide and Implement Additional Approved Traffic Control	\$4,025.00	\$4,025.00	\$5,800.00	\$5,800.00	\$1,000.00	\$1,000.00
8.	1	LS	Provide Selective Demolition	\$4,600.00	\$4,600.00	\$12,800.00	\$12,800.00	\$2,000.00	\$2,000.00
9.	1	SF	Provide and Install Broom Finished Concrete - 4" Depth	\$115.00	\$115.00	\$82.65	\$82.65	\$120.00	\$120.00



BID DATE: April 28, 2021



BID TITLE: Joey Barraza and Vino Memorial Park Phase II

DEPARTMENT: Capital Improvement

BID NO: 2021-0762

	TE: April 28, 2	021				1			apital improvement	
				Black Stallion Contractors, Inc.		Horizone Construction I, LTD		Jordan Foster Construction, LLC		
				El Paso, TX Bidder 1 of 7		El Paso, TX Bidder 2 of 7		El Paso, TX Bidder 3 of 7		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	
				Additive Alt	ernate VI					
10.	1	LS	Provide Electrical Improvements to supply Office/Maintenance Building	\$29,325.00	\$29,325.00	\$7,500.00	\$7,500.00	\$19,000.00	\$19,000.00	
11.	1,099	SF	Provide and Install HybridBermuda Sod	\$1.73	\$1,901.27	\$1.60	\$1,758.40	\$1.00	\$1,099.00	
12.	1	LS	Provide Plumbing Improvementsto supply Office/Maintenance Building	\$34,500.00	\$34,500.00	\$14,050.00	\$14,050.00	\$90,000.00	\$90,000.00	
13.	1	LS	Provide and Install Irrigation System Revisions	\$6,900.00	\$6,900.00	\$9,600.00	\$9,600.00	\$5,000.00	\$5,000.00	
14.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$9,397.98	\$9,397.98	\$9,100.00	\$9,100.00	\$25,000.00	\$25,000.00	
	Sum Total – Additive Alternate VI (Items 1-14)				\$205,189.25		\$162,866.05		\$744,319.00	



Achievement of Excellence 2020 Award Winner

BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II

	TE: April 28, 2						ſ	DEPARTMENT: C	apital Improvement
				Consi El Pa	Inc. dba CSA tructors aso, TX er 4 of 7	Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHEE	DULE: BASE BID	$\mathbf{\hat{b}}$			
1.	1	LS	Provide and Implement Approved Traffic Control Plan	\$5,670.00	\$5,670.00	\$11,000.00	\$11,000.00	\$6,527.28	\$6,527.28
2.	1	LS	Provide and Implement Storm Water Pollution Prevention Plan (SWPPP)	\$10,710.00	\$10,710.00	\$12,000.00	\$12,000.00	\$7,207.21	\$7,207.21
3.	1	LS	Provide and Implement Clearing & Grubbing	\$8,505.00	\$8,505.00	\$7,560.00	\$7,560.00	\$28,556.87	\$28,556.87
4.	1	LS	Provide and Implement Earthwork & Grading (Including Over- Excavation & Swales)	\$39,123.00	\$39,123.00	\$39,776.00	\$39,776.00	\$58,201.61	\$58,201.61
5.	6,000	CY	Provide and Implement Soil Export	\$9.45	\$56,700.00	\$8.40	\$50,400.00	\$10.20	\$61,200.00 Contractor's Price: \$61,193.28
6.	1	LS	Provide and Implement Selective Demolition	\$32,760.00	\$32,760.00	\$29,120.00	\$29,120.00	\$50,994.40	\$50,994.40
7.	1	LS	Electrical & Lighting Improvements	\$245,700.00	\$245,700.00	\$214,500.00	\$214,500.00	\$100,560.96	\$100,560.96
8.	5,389	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed Fabric Underlayment	\$1.97	\$10,616.33	\$0.960	\$5,173.44	\$1.56	\$8,406.84 Contractor's Price: \$8,427.47
9.	5,110	SF	Provide and Install 1" Desert Tan or Rainbow Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.93	\$9,862.30	\$1.04	\$5,314.40	\$1.70	\$8,687.00 Contractor's Price: \$8,686.05



BID TITLE: Joey Barraza and Vino Memorial Park Phase II

CITY OF EL PASO REVISED BID TABULATION FORMFORM



BID NO: 2021-0762

BID DA	TE: April 28, 2	021					Γ	DEPARTMENT: C	apital Improvement
					Inc. dba CSA ructors	Martinez Bros C	Contractors, LLC	Perkin Ent	erprises, LLC
				El Paso, TX		El Pa	so, TX	Albuquerque, NM	
				Bidder 4 of 7		Bidde	r 5 of 7	Bidde	er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHED	OULE: BASE BID)			
10.	14,880	SF	Provide and Install Broom Finished Concrete - 4" Depth	\$5.04	\$74,995.20	\$5.40	\$80,352.00	\$6.12	\$91,065.60 Contractor's Price: \$91,055.60
11.	2,860	LF	Provide and Install Concrete Curb Mow Strip	\$13.86	\$39,639.60	\$16.80	\$48,048.00	\$17.68	\$50,564.80 Contractor's Price: \$50,559.25
12.	1	EA	Provide and Install 12ft Long 5ft Wide Pre- fabricated Bridge	\$30,132.90	\$30,132.90	\$19,800.00	9 ,800.00	\$8,839.03	\$8,839.03
13.	2	EA	Provide and Install Park Name & Rules Sign	\$630.00	\$1,260.00	\$955.80	\$1,911.60	\$1,699.81	\$3,399.62 Contractor's Price: \$3,399.63
14.	1	EA	Provide and Install Dog Park Rule Sign	\$315.00	\$315.00	\$1,073.80	\$1,073.80	\$407.96	\$407.96
15.	3	EA	Provide and Install Dog Park Signs (Small, Big & Dangerous Dogs)	\$315.00	\$945.00	\$590.00	\$1,770.00	\$475.95	\$1,427.85 Contractor's Price: \$1,427.84
16.	3,761	LF	Provide and Install - Chain Link Fencing 6ft high	\$71.57	\$269,174.77	\$62.48	\$234,987.28	\$63.91	\$240,365.51 Contractor's Price: \$240,376.73
17.	24	EA	Provide and Install Chain Link Gates - 5 ft. wide, 6 ft. ht.	\$819.00	\$19,656.00	\$715.00	\$17,160.00	\$598.33	\$14,359.92 Contractor's Price: \$14,360.02
18.	235	PR	Provide and Install Garden Rock Wall	\$189.00	\$44,415.00	\$230.72	\$54,219.20	\$203.98	\$47,935.30 Contractor's Price: \$47,934.74



CITY OF EL PASO BID TABULATION FORM



	LE: Joey Barra TE: April 28, 2		Memorial Park Phase II						BID NO: 2021-0762 apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHED	DULE: BASE BID	0			
19.	1,270	LF	Provide and Install Garden Rock Wall Footing	\$25.20	\$32,004.00	\$12.32	\$15,646.40	\$27.20	\$34,544.00 Contractor's Price: \$34,540.21
20.	3	EA	Provide and Install Pet Waste Station	\$539.60	\$1,618.80	\$471.00	\$1,413.00	\$571.14	\$1,713.42 Contractor's Price: \$1,713.42
21.	1	LS	Provide and Install Drinking Fountain	\$7,107.98	\$7,107.98	\$6,205.00	\$6,205.00	\$7,671.26	\$7,671.26
22.	3	EA	Provide and Install Bench	\$2,777.00	\$8,331.00	\$2,425.00	\$7,275.00	\$1,339.45	\$4,018.35 Contractor's Price: \$4,018.36
23.	3	EA	Provide and Install Trash Receptacle	\$2,520.00	\$7,560.00	\$1,980.00	\$5,940.00	\$2,674.83	\$8,024.49 Contractor's Price: \$8,024.48
24.	6	EA	Provide and Install Backstop Net for Field	\$9,135.00	\$54,810.00	\$8,120.00	\$48,720.00	\$2,638.11	\$15,828.66
25.	3	EA	Provide and Install Solar Light	\$22,680.00	\$68,040.00	\$19,800.00	\$59,400.00	\$17,655.39	\$52,966.17
26.	181,789	SF	Provide and Install Hybrid Bermuda Sod	\$1.64	\$298,133.96	\$1.20	\$218,146.80	\$2.04	\$370,849.56 Contractor's Price: \$370,808.85
27.	20	EA	Provide and Install Trees, 2" Caliper	\$428.00	\$8,560.00	\$345.00	\$6,900.00	\$571.14	\$11,422.80 Contractor's Price: \$11,422.75





	LE: Joey Barra TE: April 28, 2		o Memorial Park Phase II				[BID NO: 2021-0762 apital Improvement
				El Pa	Inc. dba CSA aso, TX er 4 of 7	Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			UNIT	PRICE SCHEI	DULE: BASE BID				
28.	250	SY	Provide and Install 6" Concrete Flume	\$75.00	\$18,750.00	\$92.96	\$23,240.00	\$95.19	\$23,797.50 Contractor's Price: \$23,797.39
29.	4	EA	Provide and Install 5ft Covered Flume Structure	\$1,260.00	\$5,040.00	\$1,008.00	\$4,032.00	\$1,699.81	\$6,799.24 Contractor's Price: \$6,799.25
30.	1	EA	Provide and Install Drop Inlet Type III - 3 Gate	\$5,985.00	\$5,985.00	\$6,136.00	\$6,136.00	\$2,515.72	\$2,515.72
31.	40	PR	12" Mortared Rock Rip-Rap	\$157.00	\$6,280.00	\$140.00	(\$5 ,600.00	\$203.98	\$8,159.20 Contractor's Price: \$8,159.10
32.	207	LF	Provide and Install Storm System (42" Pipe)	\$252.00	\$52,164.00	\$206.50	\$42,745.50	\$97.23	\$20,126.61 Contractor's Price: \$20,126.47
33.	1	EA	Provide and Install Manhole (72")	\$6,300.00	\$6,300.00	\$5,310.00	\$5,310.00	\$918.73	\$918.73
34.	1	EA	Provide and Install Wing-wall Structure (42" Pipe)	\$5,670.00	\$5,670.00	\$10,640.00	\$10,640.00	\$21,417.65	\$21,417.65
35.	1	EA	Provide and Install 10' Depth Gauges	\$2,520.00	\$2,520.00	\$3,363.00	\$3,363.00	\$4,759.48	\$4,759.48
36.	80	LF	Provide and Install Fencing - Chain Link 4ft high	\$31.50	\$2,520.00	\$27.50	\$2,200.00	\$54.39	\$4,351.20 Contractor's Price: \$4351,52





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021

	TE: April 28, 2						ſ		apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
		1	UNIT	PRICE SCHED	DULE: BASE BID)			
37.	1	EA	Provide and Install Chain Link Gates – 5ft Opening x 4ft High	\$693.00	\$693.00	\$605.00	\$605.00	\$679.93	\$679.93
38.	1	LS	Provide and Install New Irrigation System	\$346,752.00	\$346,752.00	\$185,745.00	\$185,745.00	\$156,382.83	\$156,382.83
39.	2	EA	Provide and Install Pre-Fabricated Building for IT/Irrigation and Electrical Equipment	\$25,200.00	\$50,400.00	\$16,500.00	\$33,000.00	\$11,558.73	\$23,117.46
40.				Left Blank	Intentionally				
						¢1 596	,428.42	¢1 569	3,772.02
		Sum Total -	– Base Bid (Items 1-40)	\$1,889	9,419.84		, 42 0.42 ce: \$1,521,428.42		ce: \$1,568,435.63
	Mobilizati	on (Not to exc	ceed 5% of Sum Total of Base Bid)	\$56,700.00		\$25,000.00		\$0.00	
	Sum Total (Base Bid and Mobilization)				6,119.84	\$1,551,428.42 Contractor's Price: \$1,546,428.42		\$1,568,772.02 Contractor's Price: \$1,568,435.63	





	LE: Joey Barr TE: April 28, 2		Memorial Park Phase II				[BID NO: 2021-0762 apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I	•			
1.	1	LS	Provide and Install Electrical & Lighting Improvements	\$409,500.00	\$409,500.00	\$357,500.00	\$357,500.00	\$356,098.47	\$356,098.47
2.	1	LS	Earthwork and Grading - Cut to Fill	\$135,206.00	\$135,206.00	\$120,183.84	\$120,183.84	\$39,438.98	\$39,438.98
3.	1	LS	Earthwork and Grading - Cut to Waste	\$60,725.00	\$60,725.00	\$53,978.40	\$53 ,978.40	\$22,859.54	\$22,859.54
			Provide and Install 2" HMAC/5" Base				2		\$194,430.40
4.	5,480	SY	Coarse/8" Scarified	\$23.86	\$130,752.80	\$20.00	5 109,600.00	\$35.48	Contractor's Price: \$194,44.24
-	405	SY	Descride and leastell Oceanote Or and Table	#75 00	¢40.000.00		* C 004 00	#205 of	\$53,412.75
5.	135	SY	Provide and Install Concrete Speed Table	\$75.60	\$10,206.00	\$50.40	\$6,804.00	\$395.65	Contractor's Price: \$53,412.19
6.	582	LF	Provide and Install 6" Standard Curb	\$18.90	\$10,999.80	\$12.32	\$7,170.24	\$23.86	\$13,886.52 Contractor's Price: \$13,889.05
7.	736	SY	Provide and Install Broom Finished Concrete – 7" Depth	\$94.50	\$69,552.00	\$58.24	\$42,864.64	\$119.32	\$87,819.52 Contractor's Price: \$87,820.82
									\$9,420.12
8.	6	EA	Provide and Install ADA Ramp	\$1,260.00	\$7,560.00	\$784.00	\$4,704.00	\$1,570.02	Contractor's Price: \$9,420.14
9.	7	EA	Provide and Install Pavement Marking	¢246 50	¢2 425 50	¢710.90	¢E 038 60	¢214.00	\$2,198.00
Э.	ſ	EA	(ADA Wheelchair Symbol)	\$346.50	\$2,425.50	\$719.80	\$5,038.60	\$314.00	Contractor's Price: \$2,198.03





	LE: Joey Barra TE: April 28, 2		Memorial Park Phase II				[BID NO: 2021-0762 apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I				
10.	6	EA	Provide and Install Pavement Marking (ADA Access Aisle)	\$283.50	\$1,701.00	\$613.60	\$3,681.60	\$502.41	\$3,014.46 Contractor's Price: \$3,014.46
11.	2,240	LF	Provide and Install 4" Pavement Striping	\$2.84	\$6,361.60	\$2.20	\$4,928.00	\$3.58	\$8,019.20 Contractor's Price: \$8,018.42
12.	7	EA	Provide and Install Handicap Signage	\$315.00	\$2,205.00	\$767.00	\$5,369.00	\$376.81	\$2,637.67 Contractor's Price: \$2,637.64
13.	70	PR	Provide and Install 12" Mortared Rock Rip-Rap	\$157.50	\$11,025.00	\$140.00	\$9,800.00	\$199.71	\$13,979.70 Contractor's Price: \$13,979.49
14.	30	SY	Provide and Install 6" Concrete Rip-Rap	\$69.30	\$2,079.00	\$60.48	\$1,814.40	\$106.76	\$3,202.80 Contractor's Price: \$3,202.85
15.	130	SY	Provide and Install 6" Reinforced Concrete Flume	\$75.60	\$9,828.00	\$100.80	\$13,104.00	\$87.92	\$11,429.60 Contractor's Price: \$11,429.77
16.	2	EA	Provide and Install 5.0' Covered Flume Structure	\$2,520.00	\$5,040.00	\$1,008.00	\$2,016.00	\$942.01	\$1,884.02 Contractor's Price: \$1,884.03
17.	270	LF	Provide and Install 18" SantiTiteHP Pipe	\$88.00	\$23,760.00	\$100.30	\$27,081.00	\$39.56	\$10,681.20 Contractor's Price: \$10,682.44
18.	9	EA	Provide and Install Safety End Treatment	\$3,150.00	\$28,350.00	\$3,422.00	\$30,798.00	\$314.00	\$2,826.00 Contractor's Price: \$2,826.04





			o Memorial Park Phase II				-		BID NO: 2021-0762
BID DA	<u>\TE: April 28, 20</u>	021		Const El Pa	Inc. dba CSA tructors aso, TX er 4 of 7	Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Ente	pital Improvement erprises, LLC erque, NM er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ternate I				
19.	1	EA	Provide and Install 10' Pond Depth Gauge	\$2,520.00	\$2,520.00	\$3,363.00	\$3,363.00	\$3,140.05	\$3,140.05
20.	1	EA	Provide & Implement Additional Stormwater Pollution Prevention	\$8,190.00	\$8,190.00	\$10,030.00	\$10,030.00	\$4,019.26	\$4,019.26
21.	1	LS	Provide & Implement Additional Traffic Control	\$4,410.00	\$4,410.00	\$7,670.00	,670.00	\$3,768.06	\$3,768.06
22.	1	LS	Provide & Implement Additional Clearing & Grubbing	\$6,300.00	\$6,300.00	\$5,600.00	\$5,600.00	\$15,072.22	\$15,072.22
23.	1	LS	Provide Soil Export	\$6,300.00	\$6,300.00	\$5,600.00	\$5,600.00	\$10,048.15	\$10,048.15
24.	1	LS	Provide & Implement Selective Demolition	\$4,410.00	\$4,410.00	\$2,800.00	\$2,800.00	\$81,113.68	\$81,113.68
25.	2,270	LF	Provide and Install 6" Curb and Gutter	\$16.38	\$37,182.60	\$14,00	\$31,780.00	\$22.61	\$51,324.70 Contractor's Price: \$51, 320.92
26.	582	LF	Provide and Install 6" Standard Curb	\$20.16	\$11,733.12	\$11.76	\$6,844.32	\$23.86	\$13,886.52 Contractor's Price: \$13,889.05
27.	15	EA	Provide and Install Concrete Parking Stop	\$126.00	\$1,890.00	\$531.00	\$7,965.00	\$232.36	\$3,485.40 Contractor's Price \$3,485.45





	LE: Joey Barra TE: April 28, 2		o Memorial Park Phase II				[BID NO: 2021-0762 apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Albuqu	erprises, LLC erque, NM er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			-	Additive Al	ternate I				
28.	40	LF	Provide and Install 18" High Rock Wall with Footing & Concrete Cap	\$378.00	\$15,120.00	\$145.60	\$5,824.00	\$90.61	\$3,624.40 Contractor's Price: \$3,624.37
29.	19,905	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed FabricUnderlayment	\$2.42	\$48,170.10	\$0.90	\$17,914.50	\$1.44	\$28,663.20 contractor's Price: \$28,751.21
30.	21,310	SF	Provide and Install 3" Depth Grey Stabilized Screenings.	\$2.71	\$57,750.10	\$0.81	(51 7,261.10	\$1.32	\$28,129.20 contractor's Price: \$28,104.04
31.	19,295	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.97	\$38,011.15	\$1.04	\$20,066.80	\$1.44	\$27,784.80 contractor's Price: \$27,870.11
32.	94,770	SF	Provide and Install 2"-4" AntiqueGrey Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.93	\$182,906.10	\$0.89	\$84,345.30	\$1.53	\$144,998.10 contractor's Price: \$145,220.11
33.	8,840	SF	Provide and Install EngineeredWood Fiber 4" Depth	\$1.20	\$10,608.00	\$1.10	\$9,724.00	\$1.19	\$10,519.60 contractor's Price: \$10,548.04
34.	6,298	SF	Provide and Install Engineered Wood Fiber 12" Depth	\$3.78	\$23,806.44	\$3.10	\$20,090.62	\$3.59	\$22,609.82 contractor's Price: \$22,623.76
35.	1,040	SF	Provide and Install Synthetic Turfover Fall Surface and Sub Base	\$40.45	\$42,068.00	\$33.00	\$34,320.00	\$8.23	\$8,559.20 contractor's Price: \$8,556.00
36.	6,659	SF	Provide and Install Poured-In- Place Playground Surfacing over Concrete Sub Base	\$34.65	\$230,734.35	\$30.80	\$205,097.20	\$10.98	\$73,115.82 Contractor's Price: \$73,099.85



BID TITLE: Joey Barraza and Vino Memorial Park Phase II

CITY OF EL PASO REVISED BID TABULATION FORM



BID NO: 2021-0762

BID DATE: April 28, 2021 **DEPARTMENT: Capital Improvement** Karlsruher, Inc. dba CSA Martinez Bros Contractors, LLC Perkin Enterprises, LLC Constructors El Paso, TX Albuquerque, NM El Paso, TX Bidder 4 of 7 Bidder 5 of 7 Bidder 6 of 7 **Total Amount Total Amount Total Amount** (Quantity X (Quantity X (Quantity X Item Approx. Unit Price Unit Price) Unit Price Unit Price) **Unit Price** Unit Price) Unit Brief Description of Item Quantity Do Not Round Do Not Round **Do Not Round** No. (In Figures) (In Figures) (In Figures) **Only Two Only Two Only Two** Decimals Decimals Decimals Additive Alternate I \$3,209.08 SF 37. 511 Provide and Install 12" Min. DepthSand Area \$7.65 \$3,909.15 \$13.20 \$6,745.20 \$6.28 Contractor's Price: \$3,209.13 \$3.537.16 Provide and Install 24" Depth \$985.60 1 F 38. 44 \$17.64 \$776.16 \$22.40 \$80.39 contractor's Price: Concrete Curb Mow Strip \$3,536.95 \$98.875.00 Provide and Install Broom Finished SF \$95,025.00 39. 17,500 \$5.04 \$88,200.00 \$5.43 \$5.65 contractor's Price: Concrete - 4" Depth \$98,911.46 \$20,048.00 Provide and Install Bomanite Sandscape SF \$11.20 \$12,544.00 40. 1,120 \$7.56 \$17.90 \$8,467.20 contractor's Price: Finished Concrete 4" Depth \$20.046.06 \$56.731.10 Provide and Install Salt Finished SF \$6.72 \$55,171.20 41. 8,210 \$7.56 \$62,067.60 \$6.91 contractor's Price: Concrete - 4" Depth \$56,715.52 \$115,285.59 Provide and Install - Chain Link 42. 1 F \$62.48 1.953 \$71.57 \$139.776.21 \$122.023.44 \$59.03 contractor's Price: Fencing 6ft high \$115,291.20 \$47,720.00 Provide and Install 8" Depth 43 2.000 1 F \$12.60 \$25.200.00 \$26.880.00 \$23.86 contractor's Price: Concrete Curb Mow Strip \$47,728.71 Provide and Install Chain Link 44. 8 EA \$819.00 \$6,552.00 \$715.00 \$5,720.00 \$690.81 \$5,526.48 Gates - 5 ft wide, 6 ft. ht. Provide and Install Chain Link 45. 4 EA \$945.00 \$3.780.00 \$825.00 \$3.300.00 \$747.33 \$2,989.32 Gates - 5 ft wide, 8 ft. ht.





	LE: Joey Barra TE: April 28, 20		o Memorial Park Phase II				[BID NO: 2021-0762 apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Albuqu	erprises, LLC erque, NM er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I				
46.	733	LF	Provide and Install 4ft ht. Rockwall with Wrought Iron Fence (2'+2')	\$70.56	\$51,720.48	\$121.00	\$88,693.00	\$78.50	\$57,540.50 contractor's Price: \$57,541.35
47.	2	EA	Provide and Install Wrought Iron Double Gates (2-5') - 10 ft wide 4ft. ht. and components	\$989.10	\$1,978.20	\$863.50	\$1,727.00	\$5,652.08	\$11,304.16 contractor's Price: \$11,304.17
48.	2	EA	Provide and Install Wrought IronDouble Gates (2-6') - 12 ft wide 4 ft. ht.	\$1,130.00	\$2,260.00	\$986.70	,973.40	\$6,908.10	\$13,816.20
49.	1	EA	Provide and Install Drinking Fountain	\$7,108.92	\$7,108.92	\$6,206.20	\$6,206.20	\$7,086.46	\$7,086.46
50.	4	EA	Provide and Install Bench	\$2,753.42	\$11,013.68	\$2,404.60	\$9,618.40	\$1,237.18	\$4,948.72 contractor's Price: \$4,946.71
51.	1	EA	Provide and Install Trash Receptacle	\$2,898.00	\$2,898.00	\$2,090.00	\$2,090.00	\$2,471.22	\$2,471.22
52.	9	EA	Provide and Install Backstop Net for Field (65 ft. Length)	\$9,135.00	\$82,215.00	\$7,975.0	\$71,775.00	\$2,436.68	\$21,930.12 contractor's Price: \$21,930.08
53.	6	EA	Provide and Install Distance Marker	\$3,780.00	\$22,680.00	\$896.50	\$5,379.00	\$565.21	\$3,391.26 contractor's Price: \$3,391.25
54.	1	EA	Provide and Install ADA Compliant 3 Seats Picnic Table and Metal Canopy	\$16,217.46	\$16,217.46	\$14,158.10	\$14,158.10	\$16,166.22	\$16,166.22





	LE: Joey Barr TE: April 28, 2		Memorial Park Phase II				ſ		BID NO: 2021-0762 apital Improvement
	• •			Cons El Pa	Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		erprises, LLC erque, NM er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
		<u>.</u>		Additive Al	ternate I				
55.	3	EA	Provide and Install 30'x30' Metal Canopy for Playground	\$67,146.00	\$201,438.00	\$51,247.90	\$153,743.70	\$66,934.49	\$200,803.47 Contractor's Price: \$200,803.46
56.	1	EA	Provide and Install Saddle Spinner Play Piece	\$1,734.00	\$1,734.00	\$1,513.60	\$1,513.60	\$1,729.22	\$1,729.22
57.	1	EA	Provide and Install Oodle Swing Play Piece	\$9,238.00	\$9,238.00	\$8,066.30	\$8,066.30	\$9,209.61	\$9,209.61
58.	1	EA	Provide and Install Omnisping Spinner Play Piece	\$13,789.00	\$13,789.00	\$12,038.40	\$12,038.40	\$13,745.70	\$13,745.70
59.	1	EA	Provide and Install Friendship Swing Play Piece	\$5,448.00	\$5,448.00	\$4,755.30	\$4,755.30	\$5,430.86	\$5,430.86
60.	1	EA	Provide and Install Geoplex Climbing Wall Play 3 Pieces	\$8,883.00	\$8,883.00	\$7,755.00	\$7,755.00	\$8,855.87	\$8,855.87
61.	1	EA	Provide and Install 4 Bay Swing Set Play Piece	\$11,094.00	\$11,094.00	\$9,686.60	\$9,686.60	\$11,059.39	\$11,059.39

\$37,380.00

\$187,491.00

ΕA

ΕA

62.

63.

1

1

Provide and Install Zipkrooz With Assisted

Additional Bay Play Piece

Provide and Install Playbooster

Play Structure

\$37,380.00

\$187,491.00

\$32,644.70

\$163,683.30

\$32,644.70

\$163,683.30

\$37,275.34

\$186,898.70

\$37,275.34

\$186,898.70





	LE: Joey Barra TE: April 28, 2		o Memorial Park Phase II				[BID NO: 2021-0762 apital Improvemen
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I		•		
64.	1	EA	Provide and Install 2 Bay Toddler Swing Set Play Piece	\$3,016.00	\$3,016.00	\$2,633.40	\$2,633.40	\$3,006.78	\$3,006.78
65.	1	EA	Provide and Install Elevated Sand Table Play Piece	\$5,043.00	\$5,043.00	\$4,405.50	\$4,405.50	\$5,027.21	\$5,027.21
66.	1	EA	Provide and Install Accessible Superscoop Play Piece	\$1,659.00	\$1,659.00	\$1,448.70	(5) ,448.70	\$1,654.31	\$1,654.31
67.	3	EA	Provide and Install Cozy Domes Play Piece	\$8,742.00	\$26,226.00	\$7,631.80	\$22,895.40	\$8,715.05	\$26,145.15 Contractor's Price: \$26,145.14
68.	1	EA	Provide and Install Roller TablePlay Piece	\$19,838.00	\$19,838.00	\$17,319.50	\$17,319.50	\$19,775.86	\$19,775.86
69.	1	EA	Provide and Install Bobble RiderPlay Piece	\$2,031.00	\$2,031.00	\$1,773.20	\$1,773.20	\$2,025.17	\$2,025.17
70.	1	EA	Provide and Install Six Piece Rhapsody Instruments	\$34,852.00	\$34,852.00	\$30,427.10	\$30,427.10	\$34,742.42	\$34,742.42
71.	1	EA	Provide and Install Healthbeat Hand Cycler	\$5,612.00	\$5,612.00	\$4,900.50	\$4,900.50	\$5,595.25	\$5,595.25
72.	1	EA	Provide and Install Healthbeat TaiChi Wheels	\$4,903.00	\$4,903.00	\$4,379.10	\$4,379.10	\$4,887.80	\$4,887.80





	LE: Joey Barra TE: April 28, 2		Memorial Park Phase II						BID NO: 2021-0762 apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate I				
73.	6	EA	Provide and Install Removable Bollards	\$1,260.00	\$7,560.00	\$1,281.50	\$7,689.00	\$887.96	\$5,327.76 Contractor's Price: \$5,267.74
74.	7	EA	Provide and Install Handicap Parking Sign	\$315.00	\$2,205.00	\$1,210.00	\$8,470.00	\$439.61	\$3,077.27 Contractor's Price: \$3,077.25
75.	228,862	SF	Provide and Install Hybrid Bermuda Sod	\$1.64	\$375,333.68	\$1.19	5 272,345.78	\$1.88	\$430,260.56 Contractor's Price: \$431,182.38
76.	168	EA	Provide and Install Shrubs, 5 Gal.	\$32.76	\$5,503.68	\$32.00	\$5,376.00	\$43.96	\$7,385.28 Contractor's Price: \$7,385.39
77.	132	EA	Provide and Install Trees, 2" Caliper	\$428.00	\$56,496.00	\$345.00	\$45,540.00	\$552.65	\$72,949.80 Contractor's Price: \$72,949.56
78.	1	EA	Provide and Install 4" Irrigation Meter	\$31,500.00	\$31,500.00	\$17,750.00	\$17,750.00	\$2,323.63	\$2,323.63
79.	1	LS	Provide and Install New Irrigation System	\$344,736.00	\$344,736.00	\$248,730.00	\$248,730.00	\$244,645.35	\$244,645.35
80.	1	LS	Provide and Install New Irrigation System	\$7,107.00	\$7,107.00	\$7,670.00	\$7,670.00	\$4,772.87	\$4,772.87
81.	1	LS	Provide and Install Plumbing for Pre-Fabricated Restroom	\$31,500.00	\$31,500.00	\$29,500.00	\$29,500.00	\$10,424.95	\$10,424.95





BID TIT	LE: Joey Barra	aza and Vino	Memorial Park Phase II					E	BID NO: 2021-0762	
BID DA	TE: April 28, 2	021					[DEPARTMENT: Ca	pital Improvement	
				Cons El Pa	Inc. dba CSA tructors aso, TX er 4 of 7	Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	
				Additive Al	ternate I					
82.				Left Blank	Intentionally					
	Sur	m Total – Addi	itive Alternate I (Items 1-82)	\$3,637,823.08 Contractor's Price: \$3,637,912.38		\$2,959,886.18NN		\$3,222,713.30 Contractor's Price: \$3,224,018.		
	Mobilizati	on (Not to exc	eed 5% of Sum Total of Base Bid)	\$113	,400.00	\$38\000.00		Left	Blank	
	Sum Total (Additive Alternate I and Mobilization)				\$3,751,223.08 Contractor's Price: \$3,751,312.38		\$2,997,886.18		\$3,222,713.30 Contractor's Price: \$3,224,018.61	





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021 **DEPARTMENT:** Capital Improvement Karlsruher, Inc. dba CSA Martinez Bros Contractors, LLC Perkin Enterprises, LLC Constructors El Paso, TX El Paso, TX Albuquerque, NM Bidder 4 of 7 Bidder 5 of 7 Bidder 6 of 7 **Total Amount Total Amount Total Amount** (Quantity X (Quantity X (Quantity X Unit Price Unit Price) Unit Price **Unit Price** Unit Price) Item Approx. Unit Price) Unit **Brief Description of Item** Quantity (In Figures) **Do Not Round** (In Figures) Do Not Round (In Figures) **Do Not Round** No. **Only Two Only Two Only Two** Decimals Decimals Decimals Additive Alternate II Provide and Implement Additional LS 1. 1 \$11,340.00 \$11,340.00 \$10,080.00 \$10,080.00 \$14,132.02 \$14,132.02 **Clearing & Grubbing** Provide and Implement Additional \$5,664.00 2. LS \$4.410.00 \$5.664.00 \$321.182.00 1 \$4.410.00 \$321.182.00 Approved Traffic Control UD Provide and Install Electrical & Lighting \$1.830.400.00 3. LS \$2.097.346.00 \$1.830.400.00 \$1.299.816.21 \$1,299,816.21 1 \$2,097,346.00 Improvements LS \$84,672.00 \$84,672.00 \$21,198.03 4. Provide Earthwork and Grading -Cut to Fill \$87,696.00 \$87,696.00 \$21,198.03 1 LS \$5,600.00 5. 1 Provide Earthwork and Grading -Cut to Waste \$6,300.00 \$6,300.00 \$5,600.00 \$32,400.87 \$32,400.87 Provide and Install Storm Drainage \$1.214.10 6. 30 1 F Improvements \$126.00 \$3,780.00 \$247.80 \$7,434.00 \$40.47 Contractor's Price: - 12"SantiTiteHP Pipe \$1,214.07 Provide and Install Storm Drainage 7. 2 Improvements -\$531.00 \$1,062.00 EA \$3.150.00 \$6.300.00 \$578.13 \$1,156.26 SafetvEnd Treatment Provide and Implement Additional 8. LS \$4,410.00 \$4,410.00 \$3,304.00 \$3,304.00 \$2,569.46 \$2,569.46 1 Stormwater Pollution Prevention 9. 1 LS Provide Soil Export \$6,300.00 \$6,300.00 \$5,500.00 \$5,500.00 \$16,059.11 \$16,059.11





	LE: Joey Barra TE: April 28, 20		o Memorial Park Phase II				[BID NO: 2021-076 apital Improvemen
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
l				Additive Alt	ternate II				1
10.	1	LS	Provide and Implement Selective Demolition	\$8,190.00	\$8,190.00	\$2,750.00	\$2,750.00	\$40,597.44	\$40,597.44
11.	15,805	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed Fabric Underlayment	\$1.93	\$30,503.65	\$0.91	\$14,382.55	\$1.48	\$23,391.40 Contractor's Price: \$23,350.92
12.	200	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.97	\$394.00	\$5.78	5 1,156.00	\$1.61	\$322.00 Contractor's Price: \$321.18
13.	11,540	SF	Provide and Install Engineered Wood Fiber, 12" Depth	\$3.62	\$41,774.80	\$3.13	36,120.20	\$3.67	\$42,351.80 Contractor's Price: \$42,351.80
14.	5,720	SF	Provide and Install Broom Finished Concrete 4" Depth	\$5.04	\$28,828.80	\$5.43	\$31,059.60	\$5.78	\$33,061.60 Contractor's Price: \$33,068.53
15.	5,050	SF	Provide and Install Bomanite Sandscape Finished Concrete4" Depth	\$7.56	\$38,178.00	\$11.20	\$56,560.00	\$16.06	\$81,103.00 Contractor's Price: \$81,098.53
16.	1,860	SF	Provide and Install Salt Finished Concrete - 4" Depth	\$7.56	\$14,061.60	\$6.72	\$12,499.20	\$7.07	\$13,150.20 Contractor's Price: \$13,142.78
17.	1,660	LF	Provide and Install - Chain Link Fencing 6ft high	\$71.57	\$118,806.20	\$62.48	\$103,716.80	\$60.38	\$100,230.80 Contractor's Price: \$100,234.57
18.	1,750	LF	Provide and Install 8" Depth Concrete Curb Mow Strip	\$12.60	\$22,050.00	\$12.32	\$21,560.00	\$16.70	\$29,225.00 Contractor's Price: \$29,227.59





BID NO: 2021-0762

	TE: April 28, 2		o memorial Park Phase II				ſ		apital Improvement
				Karlsruher, Inc. dba CSA Constructors El Paso, TX Bidder 4 of 7		Martinez Bros Contractors, LLC El Paso, TX Bidder 5 of 7		Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Al	ternate II				
19.	4	EA	Provide and Install Chain Link Gates - 5 ft wide, 6 ft. ht.	\$819.00	\$3,276.00	\$715.00	\$2,860.00	\$706.60	\$2,826.40
20.	2	EA	Provide and Install Chain Link Gates - 10 ft wide, 6 ft. ht.	\$1,638.00	\$3,276.00	\$1,430.00	\$2,860.00	\$1,413.20	\$2,826.40
21.	1	EA	Provide and Install ADA Compliant 3 Seats Picnic Table and Metal Canopy	\$16,822.26	\$16,822.26	\$14,884.10	4,884.10	\$17,383.67	\$17,383.67
22.	1	EA	Provide and Install 4 Seats Picnic Table and Metal Canopy	\$17,385.00	\$17,385.00	\$15,177.80	\$15,177.80	\$17,726.69	\$17,726.69
23.	6	EA	Provide and Install Aluminum Bleachers with Galvanized SteelChain Link Guardrail	\$9,040.00	\$54,240.00	\$7,892.50	\$47,355.00	\$7,631.29	\$45,787.74 Contractor's Price: \$45,787.75
24.	3	EA	Provide and Install TrashReceptacle	\$2,898.00	\$8,694.00 Contractor's Price: \$2,898.00	\$781.00	\$2,343.00	\$2,527.70	\$7,583.10 Contractor's Price: \$7,583.11
25.	32	EA	Provide and Install Shrubs, 5 Gal.	\$32.76	\$1,048.32	\$32.00	\$1,024.00	\$44.97	\$1,439.04 Contractor's Price: \$1,438.90
26.	76	EA	Provide and Install Trees, 2"Caliper	\$428.40	\$32,558.40	\$345.00	\$26,220.00	\$539.59	\$41,008.84 Contractor's Price: \$41,008.55
27.	210,090	SF	Provide and Install HybridBermuda Sod	\$1.64	\$344,547.60	\$1.20	\$252,108.00	\$1.93	\$405,473.70 Contractor's Price: \$404,883.11

BID TITLE: Joey Barraza and Vino Memorial Park Phase II





BID TIT	LE: Joey Barra	aza and Vino	Memorial Park Phase II					E	BID NO: 2021-0762		
BID DA	TE: April 28, 2	021					C	DEPARTMENT: Ca	pital Improvement		
					Inc. dba CSA tructors	Martinez Bros 0	Contractors, LLC	Perkin Enterprises, LLC			
				El Pa	iso, TX	El Pa	so, TX	Albuquerque, NM			
				Bidder 4 of 7		Bidder 5 of 7		Bidde	r 6 of 7		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Additive Alt	ernate II						
28.	1	LS	Provide and Install IrrigationSystem Additions	\$209,664.00	\$209,664.00	\$128,815.00	\$128,815.00	\$184,782.59	\$184,782.59		
29.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$94,500.00	\$94,500.00	\$28,000.00	\$28,000.00	\$91,536.95	\$91,536.95		
	2										
	Sun	n Total – Addi	itive Alternate II (Items 1-29)	\$3,316,680.63		\$2,7550167.25		\$2,891,536.42			
	Cul			Contractor's Pri	ce: \$3,308,865.03	φ2,130,101.23		Contractor's Price: \$2,572,965.62			



CITY OF EL PASO REVISED BID TABULATION FORM



DEPARTMENT: Capital Improvement

BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021

0.0 0/	ATE. April 20, 2			Karlsruher, Inc. dba CSA					
				Const	Inc. dba CSA tructors Iso, TX		contractors, LLC so, TX	Perkin Enterprises, LLC Albuquerque, NM	
					er 4 of 7	Bidder			er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate III	-			
1.	1	LS	Provide and Install Pre-Fabricated Restroom Building and Foundation	\$250,771.00	\$250,771.00	\$7,150.00	\$7,150.00	\$299,906.76	\$299,906.76
2.	775	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.97	\$1,526.75	\$1.73	\$1,340.75	\$1.76	\$1,364.00 Contractor's Price: \$1,363.85
3.	400	SF	Provide and Install Broom Finished Concrete -4" Depth	\$5.04	\$2,016.00	\$5.43	52 ,172.00	\$6.34	\$2,536.00 Contractor's Price: \$2,534.13
4.	40	LF	Provide and Install 18" High RockWall with Footing & Concrete Cap	\$252.00	\$10,080.00	\$56.00	\$2,240.00	\$101.56	\$4,062.40 Contractor's Price: \$4,062.49
5.	1	EA	Provide and Install DrinkingFountain	\$7,108.00	\$7,108.00	\$6,657.56	\$6,657.56	\$7,943.08	\$7,943.08
6.	1	LS	Provide and Install Electrical to supply Pre-Fabricated Restroom	\$42,840.00	\$42,840.00	\$40,120.00	\$40,120.00	\$66,356.09	\$66,356.09
7.	1	LS	Provide and Install Plumbingimprovements to supply Pre-Fabricated Restroom	\$44,100.00	\$44,100.00	\$14,160.00	\$14,160.00	\$17,485.47	\$17,485.47
8.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$12,600.00	\$12,600.00	\$2,360.00	\$2,360.00	\$15,204.76	\$15,204.76
9.	1	LS	Provide and Implement Additional Approved Traffic Control	\$1,260.00	\$1,260.00	\$3,304.00	\$3,304.00	\$2,534.13	\$2,534.13





BID NO: 2021-0762 BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021 **DEPARTMENT:** Capital Improvement Karlsruher, Inc. dba CSA Martinez Bros Contractors, LLC Perkin Enterprises, LLC Constructors El Paso, TX El Paso, TX Albuquerque, NM Bidder 4 of 7 Bidder 5 of 7 Bidder 6 of 7 **Total Amount Total Amount Total Amount** (Quantity X (Quantity X (Quantity X Unit Price Unit Price) **Unit Price** Unit Price) **Unit Price** Unit Price) Approx. Item Unit **Brief Description of Item Do Not Round Do Not Round Do Not Round** No. Quantity (In Figures) (In Figures) (In Figures) Only Two **Only Two Only Two** Decimals Decimals Decimals Additive Alternate III UMB LS \$41,290.00 10. 1 Provide and Install IrrigationSystem Additions \$20,160.00 \$20,160.00 \$41,290.00 \$1,309.30 \$1,309.30 \$418,701.99 \$20,794.31 Sum Total – Additive Alternate III (Items 1-10) \$392,461.75 Contractor's Price: \$418,700.03



BID TITLE: Joey Barraza and Vino Memorial Park Phase II

CITY OF EL PASO REVISED BID TABULATION FORM

Achievement of Excellence 2020 Award Winner BID NO: 2021-0762

	TE: April 28, 2						[pital Improvement
				Const El Pa	Inc. dba CSA tructors aso, TX er 4 of 7	El Pa	Contractors, LLC so, TX r 5 of 7	Perkin Enterprises, LLC Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
			•	Additive Alt	ernate IV				
1.	1	EA	Provide and Install Healthbeat Elliptical	\$14,414.00	\$14,414.00	\$12,584.00	\$12,584.00	\$19,472.78	\$19,472.78
2.	1	EA	Provide and Install Healthbeat Pull Up Dip	\$4,348.00	\$4,348.00	\$3,796.10	\$3,796.10	\$3,451.25	\$3,451.25
3.	1	EA	Provide and Install Healthbeat Chest/Back Press	\$10,239.00	\$10,239.00	\$8,938.60	\$8,938.60	\$8,126.25	\$8,126.25
4.	1	EA	Provide and Install Healthbeat Balance Steps	\$5,119.54	\$5,119.54	\$4,469.30	\$4,469.30	\$4,063.13	\$4,063.13
5.	1	EA	Provide and Install Healthbeat Squat Press	\$10,239.00	\$10,239.00	\$8,938.60	\$8,938.60	\$8,126.25	\$8,126.25
6.	1	EA	Provide and Install Healthbeat ABCrunch/Leg Lift	\$4,227.00	\$4,227.00	\$3,690.50	\$3,690.50	\$3,355.00	\$3,355.00
7.	1	EA	Provide and Install Healthbeat Cardio Stepper	\$12,785.00	\$12,785.00	\$11,161,70	\$11,161.70	\$10,147.50	\$10,147.50
8.	1	EA	Provide and Install Healthbeat Plyometrics	\$5,119.00	\$5,119.00	\$4,469.30	\$4,469.30	\$4,063.12	\$4,063.12
9.	1	EA	Provide and Install Fitcore Globed Grasp Overhead	\$7,908.00	\$7,908.00	\$6,905.80	\$6,905.80	\$6,276.88	\$6,276.88





	LE: Joey Barra TE: April 28, 20		Memorial Park Phase II				C		BID NO: 2021-0762 apital Improvement
					Inc. dba CSA tructors	Martinez Bros C	Contractors, LLC	Perkin Ente	erprises, LLC
					aso, TX er 4 of 7	El Paso, TX Bidder 5 of 7		Albuquerque, NM Bidder 6 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate IV				•
10.	1	EA	Provide and Install Angled Overhead Ladder	\$10,135.00	\$10,135.00	\$8,848.00	\$8, 848.00	\$8,043.75	\$8,043.75
11.	1	EA	Provide and Install Fitcore WheelBridge Overhead	\$6,641.00	\$6,641.00	\$5,801.40	5,801.40	\$5,273.12	\$5,273.12
12.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$3,780.00	\$3,780.00	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00
13.	1	LS	Provide and Implement Additional Approved Traffic Control	\$630.00	\$630.00	\$10,030.00	\$10,030.00	\$1,600.00	\$1,600.00
	Sum	n Total – Additi	ve Alternate IV (Items 1-13)	\$95,	584.54	\$91,6	33.30	\$85,	999.03





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID DA	TE: April 28, 2	021					Γ	DEPARTMENT: Ca	apital Improvement
					Inc. dba CSA tructors	Martinez Bros 0	Contractors, LLC	Perkin Ente	erprises, LLC
					aso, TX er 4 of 7		so, TX r 5 of 7	•	erque, NM er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate V	-			
1.	1	LS	Provide Earthwork and Grading	\$6,930.00	\$6,930.00	\$6,844.00	\$6,844.00	\$28,417.44	\$28,417.44
2.	1	LS	Provide and Implement Selective Demolition	\$1,260.00	\$1,260.00	\$4,956.00	\$4,956.00	\$12,849.11	\$12,849.11
3.	1	LS	Provide and Implement AdditionalTraffic Control	\$1,260.00	\$1,260.00	\$6,136.00	\$6,136.00	\$5,976.33	\$5,976.33
4.	7,675	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.97	\$15,119.75	\$1.04	\$7,982.00	\$1.87	\$14,352.25 Contractor's Price: \$14,333.85
5.	7,205	SF	Provide and Install 2"-4" AntiqueGrey Rock Mulch, 4" Depth with Weed Fabric Underlayment	\$1.93	\$13,905.65	\$0.95	\$6,844.75	\$1.79	\$12,896.95 Contractor's Price: \$12,917.83
6	215	LF	Provide and Install - Chain Link Fencing	\$71.57	¢45.007.55	\$67.00	\$14,405.00	\$70.22	\$15,097.30
6.	215	LF	6ft high	\$71.57	\$15,387.55	\$67.00	\$14,405.00	\$70.22	Contrator's Price: \$15,097.70
7.	343	LF	Provide and Install 8" Depth Concrete Curb Mow Strip	\$15.12	\$5,186.16	\$1344	\$4,609.92	\$19.42	\$6,661.06 Contractor's Price: \$6,662.11
8.	2	EA	Provide and Install Chain Link Gates - 5 ft wide, 6 ft. ht.	\$819.00	\$1,638.00	\$767.00	\$1,534.00	\$672.34	\$1,344.68 Contractor's Price: \$1,344.67
9.	4	EA	Provide and Install Chain Link Gates - 15 ft wide, 6 ft. ht.	\$2,457.00	\$9,828.00	\$2,301.00	\$9,204.00	\$1,792.00	\$7,168.00 Contractor's Price: \$7,171.59



Item

No.

10.

11.

12.

13.

14.

15.

16.

1

1

CITY OF EL PASO REVISED BID TABULATION FORM



Bidder 6 of 7

BID NO: 2021-0762

Total Amount

(Quantity X

Unit Price)

Do Not Round

Only Two Decimals

\$1,792.90

\$1,411.83

Contractor's Price: \$1,411.91 \$5,647.59

Bidder's Price: \$5.647.63 \$20.249.60

Contractor's Price: \$20.259.75 \$13,469,60

Contractor's Price:

\$13,506.50

\$42,027.04

\$16.136.09

\$205,497.77

Contractor's Price: \$205.552.47

\$42,027.04

\$16.136.09

\$19,755.00

\$2.500.00

\$117,358.47

BID DATE: April 28, 2021 **DEPARTMENT:** Capital Improvement Karlsruher, Inc. dba CSA Martinez Bros Contractors, LLC Perkin Enterprises, LLC Constructors El Paso, TX El Paso, TX Albuquerque, NM Bidder 5 of 7 Bidder 4 of 7 **Total Amount Total Amount** (Quantity X (Quantity X Approx. Unit Price Unit Price) Unit Price Unit Price) Unit Price Unit **Brief Description of Item** Do Not Round Do Not Round Quantity (In Figures) (In Figures) (In Figures) **Only Two Only Two** Decimals Decimals Additive Alternate V Provide and Install Chain Link 2 ΕA \$945.00 \$1,890.00 \$885.00 \$1,770.00 \$896.45 Gates - 5 ft wide, 8 ft. ht \$864.00 27 ΕA Provide and Install Shrubs, 5 Gal. \$32.76 \$884.52 \$32.00 \$52.29 \$3,105.00 9 ΕA Provide and Install Trees, 2"Caliper \$428.00 \$3,852.00 \$345.00 \$627.51 SF \$1.53 9.040 Provide and Install HybridBermuda Sod \$1.64 \$14,825.60 \$13.831.20 \$2.24 Remove and Relocate Existing Rock at Skate 9,040 LS \$0.95 \$8,588.00 \$1.44 \$13,017.60 \$1.49 Park

\$17,199.00

\$3.780.00

LS

LS

Sum Total – Additive Alternate V (Items 1-16)

Provide and Install IrrigationSystem Additions

Provide and Implement Additional

Mobilization/Demobilization

\$121,534.23

\$17.199.00

\$3.780.00

\$19,755.0

\$2.500





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID DA	TE: April 28, 2	021					[DEPARTMENT: Ca	apital Improvement
				Cons	Inc. dba CSA tructors aso, TX		Contractors, LLC so, TX		erprises, LLC erque, NM
					er 4 of 7		r 5 of 7	-	er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate VI				
1.	1	LS	Provide and Install New Prefabricated Office/MaintenanceBuilding	\$610,626.00	\$610,626.00	\$63,800.00	\$63,800.00	\$778,204.78	\$778,204.78
2.	1	LS	Earthwork and Grading - Cut to Fill	\$1,575.00	\$1,575.00	\$2,950.00	\$2,950.00	\$13,779.73	\$13,779.73
3.	1	LS	Earthwork and Grading - Cut to Waste	\$1,260.00	\$1,260.00	\$2,950.00	9 50.00	\$19,090.34	\$19,090.34
4.	15	PR	Standard Rockwall	\$157.00	\$2,355.00	\$94.00	\$1,410.00	\$270.95	\$4,064.25
5.	100	LF	Standard Rockwall Footing	\$25.20	\$2,520.00	\$24.64	\$2,464.00	\$30.97	\$3,097.00 Contractor's Price: \$3,096.57
6.	1	LS	Provide and Implement Additional Stormwater Pollution Prevention	\$1,071.00	\$1,071.00	\$1,416.00	\$1,416.00	\$1,857.94	\$1,857.94
7.	1	LS	Provide and Implement Additional Approved Traffic Control	\$630.00	\$630.00	\$4,130.00	\$4,130.00	\$2,322.43	\$2,322.43
8.	1	LS	Provide Selective Demolition	\$630.00	\$630.00	\$1,916.00	\$1,916.00	\$774.14	\$774.14
9.	1	SF	Provide and Install Broom Finished Concrete - 4" Depth	\$5.04	\$5.04	\$5.60	\$5.60	\$6.97	\$6.97





BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID NO: 2021-0762

BID DA	TE: April 28, 2	021					C	DEPARTMENT: Ca	apital Improvement
				Cons El Pa	Inc. dba CSA tructors aso, TX er 4 of 7	El Pa	Contractors, LLC so, TX r 5 of 7	Albuqu	erprises, LLC erque, NM er 6 of 7
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals
				Additive Alt	ernate VI				
10.	1	LS	Provide Electrical Improvements to supply Office/Maintenance Building	\$31,878.00	\$31,878.00	\$10,030.00	\$10,030.00	\$72,975.79	\$72,975.79
11.	1,099	SF	Provide and Install HybridBermuda Sod	\$1.64	\$1,802.36	\$4.47	64 912.53	\$3.87	\$4,253.13 Contractor's Price: \$4,253.91
12.	1	LS	Provide Plumbing Improvementsto supply Office/Maintenance Building	\$56,700.00	\$56,700.00	\$10,030.00	\$10,030.00	\$34,882.84	\$34,882.84
13.	1	LS	Provide and Install IrrigationSystem Revisions	\$2,741.00	\$2,741.00	\$1,100.00	\$1,100.00	\$4,428.09	\$4,428.09
14.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$22,680.00	\$22,680.00	\$1,500.00	\$1,500.00	\$34,062.25	\$34,062.25
						ĬĊ			
	Sun	n Total – Add	itive Alternate VI (Items 1-14)		,473.40 rice: \$736,473.00	\$108, Contractor's Pr	614.13 ice: \$108,131.13		,799.68 rice: \$973,800.03





	LE: Joey Barra TE: April 28, 2		o Memorial Park Phase II					BID NO: 2021-0762
				El Pa	Contractors, LLC Iso, TX er 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
			UNIT	PRICE SCHEE	OULE: BASE BI	D	-	
1.	1	LS	Provide and Implement Approved Traffic Control Plan	\$6,150.00	\$6,150.00			
2.	1	LS	Provide and Implement Storm Water Pollution Prevention Plan (SWPPP)	\$8,610.00	\$8,610.00			
3.	1	LS	Provide and Implement Clearing & Grubbing	\$8,856.00	\$8,856.00			
4.	1	LS	Provide and Implement Earthwork & Grading (Including Over- Excavation & Swales)	\$123,000.00	\$123,000.00			
5.	6,000	CY	Provide and Implement Soil Export	\$13.84	\$83,040.00			
6.	1	LS	Provide and Implement Selective Demolition	\$9,963.00	\$9,963.00			
7.	1	LS	Electrical & Lighting Improvements	\$468,261.00	\$468,261.00			
8.	5,389	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed Fabric Underlayment	\$1.41	\$7,598.49			
9.	5,110	SF	Provide and Install 1" Desert Tan or Rainbow Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.49	\$7,613.90			





	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II				ſ	BID NO: 2021-0762 pital Improvement
	<u> </u>			El Pa	Contractors, LLC aso, TX er 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
			UNIT	PRICE SCHE	DULE: BASE BI	D		
10.	14,880	SF	Provide and Install Broom Finished Concrete - 4" Depth	\$6.15	\$91,512.00			
11.	2,860	LF	Provide and Install Concrete Curb Mow Strip	\$14.76	\$42,213.60			
12.	1	EA	Provide and Install 12ft Long 5ft Wide Pre- fabricated Bridge	\$31,980.00	\$31,980.00			
13.	2	EA	Provide and Install Park Name & Rules Sign	\$492.00	\$984.00			
14.	1	EA	Provide and Install Dog Park Rule Sign	\$492.00	\$492.00			
15.	3	EA	Provide and Install Dog Park Signs (Small, Big & Dangerous Dogs)	\$492.00	\$1,476.00			
16.	3,761	LF	Provide and Install - Chain Link Fencing 6ft high	\$69.86	\$262,743.46			
17.	24	EA	Provide and Install Chain Link Gates - 5 ft. wide, 6 ft. ht.	\$799.50	\$19,188.00			
18.	235	PR	Provide and Install Garden Rock Wall	\$246.00	\$57,810.00			





			o Memorial Park Phase II						BID NO: 2021-0762
BID DA	TE: April 28, 2	021					[DEPARTMENT: Ca	ipital Improvemen
				Pride General	Contractors, LLC				
					aso, TX				
				Bidde	er 7 of 7		-		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals				
			UNIT	PRICE SCHED	OULE: BASE BI	D			
19.	1,270	LF	Provide and Install Garden Rock Wall Footing	\$14.76	\$18,745.20				
20.	3	EA	Provide and Install Pet Waste Station	\$526.72	\$1,580.16				
21.	1	LS	Provide and Install Drinking Fountain	\$15,548.74	\$15,548.74				
22.	3	EA	Provide and Install Bench	\$2,711.23	\$8,133.69				
23.	3	EA	Provide and Install Trash Receptacle	\$1,599.00	\$4,797.00				
24.	6	EA	Provide and Install Backstop Net for Field	\$6,150.00	\$36,900.00				
25.	3	EA	Provide and Install Solar Light	\$18,597.60	\$55,792.80				
26.	181,789	SF	Provide and Install Hybrid Bermuda Sod	\$1.19	\$216,328.91				
27.	20	EA	Provide and Install Trees, 2" Caliper	\$467.40	\$9,348.00				





			o Memorial Park Phase II						ID NO: 2021-0762
BID DA	.TE: April 28, 2	2021		El Pa	Contractors, LLC aso, TX er 7 of 7]	DEPARTMENT: Ca	pital Improvement
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals				
			UNIT	PRICE SCHEI	DULE: BASE BI	D		-	
28.	250	SY	Provide and Install 6" Concrete Flume	\$132.84	\$33,210.00				
29.	4	EA	Provide and Install 5ft Covered Flume Structure	\$1,414.50	\$5,658.00				
30.	1	EA	Provide and Install Drop Inlet Type III - 3 Gate	\$8,979.00	\$8,979.00				
31.	40	PR	12" Mortared Rock Rip-Rap	\$221.40	\$8,856.00				
32.	207	LF	Provide and Install Storm System (42" Pipe)	\$211.56	\$43,792.92				
33.	1	EA	Provide and Install Manhole (72")	\$10,086.00	\$10,086.00				
34.	1	EA	Provide and Install Wing-wall Structure (42" Pipe)	\$18,450.00	\$18,450.00				
35.	1	EA	Provide and Install 10' Depth Gauges	\$1,230.00	\$1,230.00				
36.	80	LF	Provide and Install Fencing - Chain Link 4ft high	\$30.75	\$2,460.00				



. . ..

...

. . .

. ...

...



			o Memorial Park Phase II					E	BID NO: 2021-0762
BID DA	TE: April 28, 2	021					[DEPARTMENT: Ca	pital Improvement
				El Pa	Contractors, LLC aso, TX er 7 of 7				
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals				
			UNIT	PRICE SCHED	OULE: BASE BI	D		-	
37.	1	EA	Provide and Install Chain Link Gates – 5ft Opening x 4ft High	\$676.50	\$676.50				
38.	1	LS	Provide and Install New Irrigation System	\$281,670.00	\$281,670.00				
39.	2	EA	Provide and Install Pre-Fabricated Building for IT/Irrigation and Electrical Equipment	\$7,995.00	\$15,990.00				
40.				Left Blank	< Intentionally				
_								1	
		Sum Total	– Base Bid (Items 1-40)	\$2,029	9,724.37				
	Mobilizati	on (Not to ex	ceed 5% of Sum Total of Base Bid)	\$81,188.97					
		Sum Total (B	Base Bid and Mobilization)	\$2,110,913.34					





	LE: Joey Barr TE: April 28, 2		Memorial Park Phase II			[BID NO: 2021-0762 pital Improvement
				El Pa	Contractors, LLC aso, TX er 7 of 7		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Additive Al	ternate I		
1.	1	LS	Provide and Install Electrical & Lighting Improvements	\$167,157.00	\$167,157.00		
2.	1	LS	Earthwork and Grading - Cut to Fill	\$40,590.00	\$40,590.00		
3.	1	LS	Earthwork and Grading - Cut to Waste	\$136,530.00	\$136,530.00		
4.	5,480	SY	Provide and Install 2" HMAC/5" Base Coarse/8" Scarified	\$21.53	\$117,984.40		
5.	135	SY	Provide and Install Concrete Speed Table	\$87.33	\$11,789.55		
6.	582	LF	Provide and Install 6" Standard Curb	\$16.30	\$9,486.60		
7.	736	SY	Provide and Install Broom Finished Concrete – 7" Depth	\$8.49	\$6,248.64		
8.	6	EA	Provide and Install ADA Ramp	\$1,107.00	\$6,642.00		
9.	7	EA	Provide and Install Pavement Marking (ADA Wheelchair Symbol)	\$147.60	\$1,033.20		





BID TIT BID DA	LE: Joey Barr TE: April 28, 2	aza and Vinc	o Memorial Park Phase II				BID NO: 2021-0762 pital Improvement
				Pride General Contractors, LLC El Paso, TX Bidder 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Additive Al	ternate I		
10.	6	EA	Provide and Install Pavement Marking (ADA Access Aisle)	\$246.00	\$1,476.00		
11.	2,240	LF	Provide and Install 4" Pavement Striping	\$1.35	\$3,024.00		
12.	7	EA	Provide and Install Handicap Signage	\$492.00	\$3,444.00		
13.	70	PR	Provide and Install 12" Mortared Rock Rip-Rap	\$221.40	\$15,498.00		
14.	30	SY	Provide and Install 6" Concrete Rip-Rap	\$132.84	\$3,985.20		
15.	130	SY	Provide and Install 6" Reinforced Concrete Flume	\$132.84	\$17,269.20		
16.	2	EA	Provide and Install 5.0' Covered Flume Structure	\$1,414.50	\$2,829.00		
17.	270	LF	Provide and Install 18" SantiTiteHP Pipe	\$72.57	\$19,593.90		
18.	9	EA	Provide and Install Safety End Treatment	\$4,059.00	\$36,531.00		





	LE: Joey Barr TE: April 28, 2		Memorial Park Phase II			[E DEPARTMENT: Ca	BID NO: 2021-0762
	<u> </u>			El Pa	Contractors, LLC Iso, TX er 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Al	ternate I		I	
19.	1	EA	Provide and Install 10' Pond Depth Gauge	\$1,230.00	\$1,230.00			
20.	1	EA	Provide & Implement Additional Stormwater Pollution Prevention	\$12,300.00	\$12,300.00			
21.	1	LS	Provide & Implement Additional Traffic Control	\$7,380.00	\$7,380.00			
22.	1	LS	Provide & Implement Additional Clearing & Grubbing	\$1,476.00	\$1,476.00			
23.	1	LS	Provide Soil Export	\$387,450.00	\$387,450.00			
24.	1	LS	Provide & Implement Selective Demolition	\$11,685.00	\$11,685.00			
25.	2,270	LF	Provide and Install 6" Curb and Gutter	\$15.99	\$36,297.30			
26.	582	LF	Provide and Install 6" Standard Curb	\$14.76	\$8,590.32			
27.	15	EA	Provide and Install Concrete Parking Stop	\$221.40	\$3,321.00			





	LE: Joey Barra TE: April 28, 20		o Memorial Park Phase II				BID NO: 2021-0762 apital Improvement
				EI P	Contractors, LLC aso, TX er 7 of 7		
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Additive A	Iternate I		
28.	40	LF	Provide and Install 18" High Rock Wall with Footing & Concrete Cap	\$246.00	\$9,840.00		
29.	19,905	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed FabricUnderlayment	\$1.41	\$28,066.05		
30.	21,310	SF	Provide and Install 3" Depth Grey Stabilized Screenings.	\$2.16	\$46,029.60		
31.	19,295	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.49	\$28,749.55		
32.	94,770	SF	Provide and Install 2"-4" AntiqueGrey Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.46	\$138,364.20		
33.	8,840	SF	Provide and Install EngineeredWood Fiber 4" Depth	\$1.17	\$10,342.80		
34.	6,298	SF	Provide and Install Engineered Wood Fiber 12" Depth	\$3.52	\$22,168.96		
35.	1,040	SF	Provide and Install Synthetic Turfover Fall Surface and Sub Base	\$34.69	\$36,077.60		
36.	6,659	SF	Provide and Install Poured-In- Place Playground Surfacing over Concrete Sub Base	\$30.07	\$200,236.13		





BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID NO: 2021-0762 BID DATE: April 28, 2021 **DEPARTMENT: Capital Improvement Pride General Contractors, LLC** El Paso, TX Bidder 7 of 7 **Total Amount** (Quantity X Unit Price Unit Price) Item Approx. Unit **Brief Description of Item** No. Quantity (In Figures) Do Not Round **Only Two** Decimals Additive Alternate I \$1,727.18 SF 37. 511 Provide and Install 12" Min. DepthSand Area \$3.38 Bidder's Price: \$172,718.00 Provide and Install 24" Depth LF 38. 44 \$13.53 \$595.32 Concrete Curb Mow Strip Provide and Install Broom Finished 39. 17,500 SF \$5.23 \$91,525.00 Concrete - 4" Depth Provide and Install Bomanite Sandscape 40. 1,120 SF \$11.07 \$12,398.40 Finished Concrete 4" Depth Provide and Install Salt Finished 8,210 SF 41. \$6.77 \$55,581.70 Concrete - 4" Depth Provide and Install - Chain Link 42. 1.953 LF \$69.86 \$136.436.58 Fencing 6ft high Provide and Install 8" Depth 2,000 LF \$14.76 43. \$29,520.00 Concrete Curb Mow Strip Provide and Install Chain Link 44. 8 EΑ \$799.50 \$6,396.00 Gates - 5 ft wide, 6 ft. ht. Provide and Install Chain Link 45. 4 EA \$922.50 \$3.690.00 Gates - 5 ft wide, 8 ft. ht.





	-		o Memorial Park Phase II					BID NO: 2021-0762
BID DA	TE: April 28, 2	021					DEPARTMENT: Ca	pital Improvement
				Pride General Contractors, LLC El Paso, TX Bidder 7 of 7				
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Al	ternate I			
46.	733	LF	Provide and Install 4ft ht. Rockwall with Wrought Iron Fence (2'+2')	\$94.71	\$69,422.43			
47.	2	EA	Provide and Install Wrought Iron Double Gates (2-5') - 10 ft wide 4ft. ht. and components	\$965.55	\$1,931.10			
48.	2	EA	Provide and Install Wrought IronDouble Gates (2-6') - 12 ft wide 4 ft. ht.	\$1,103.31	\$2,206.62			
49.	1	EA	Provide and Install Drinking Fountain	\$10,629.66	\$10,629.66			
50.	4	EA	Provide and Install Bench	\$2,687.86	\$10,751.44			
51.	1	EA	Provide and Install Trash Receptacle	\$1,592.85	\$1,592.85			
52.	9	EA	Provide and Install Backstop Net for Field (65 ft. Length)	\$5,535.00	\$49,815.00			
53.	6	EA	Provide and Install Distance Marker	\$738.00	\$4,428.00			
54.	1	EA	Provide and Install ADA Compliant 3 Seats Picnic Table and Metal Canopy	\$15,831.33	\$15,831.33			





	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II			[ID NO: 2021-0762 pital Improvement
				Pride General Contractors, LLC El Paso, TX Bidder 7 of 7			• • • •
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals		
				Additive Al	ternate I		
55.	3	EA	Provide and Install 30'x30' Metal Canopy for Playground	\$65,547.93	\$196,643.79		
56.	1	EA	Provide and Install Saddle Spinner Play Piece	\$1,693.40	\$1,693.40		
57.	1	EA	Provide and Install Oodle Swing Play Piece	\$9,018.83	\$9,018.83		
58.	1	EA	Provide and Install Omnisping Spinner Play Piece	\$13,460.96	\$13,460.96		
59.	1	EA	Provide and Install Friendship Swing Play Piece	\$5,318.36	\$5,318.36		
60.	1	EA	Provide and Install Geoplex Climbing Wall Play 3 Pieces	\$8,672.42	\$8,672.42		
61.	1	EA	Provide and Install 4 Bay Swing Set Play Piece	\$10,830.30	\$10,830.30		
62.	1	EA	Provide and Install Zipkrooz With Assisted Additional Bay Play Piece	\$36,503.18	\$36,503.18		
63.	1	EA	Provide and Install Playbooster Play Structure	\$183,027.08	\$183,027.08		





			o Memorial Park Phase II					BID NO: 2021-0762
BID DA	TE: April 28, 2	021					DEPARTMENT: Ca	pital Improvement
				Pride General	Contractors, LLC			
					iso, TX			
				Bidde	er 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Al	ternate I			
64.	1	EA	Provide and Install 2 Bay Toddler Swing Set Play Piece	\$2,944.47	\$2,944.47			
65.	1	EA	Provide and Install Elevated Sand Table Play Piece	\$4,923.08	\$4,923.08			
66.	1	EA	Provide and Install Accessible Superscoop Play Piece	\$1,620.05	\$1,620.05			
67.	3	EA	Provide and Install Cozy Domes Play Piece	\$8,534.50	\$25,603.50			
68.	1	EA	Provide and Install Roller TablePlay Piece	\$19,366.20	\$19,366.20			
69.	1	EA	Provide and Install Bobble RiderPlay Piece	\$1,983.22	\$1,983.22			
70.	1	EA	Provide and Install Six Piece Rhapsody Instruments	\$34,022.72	\$34,022.72			
71.	1	EA	Provide and Install Healthbeat Hand Cycler	\$5,479.34	\$5,479.34			
72.	1	EA	Provide and Install Healthbeat TaiChi Wheels	\$4,786.55	\$4,786.55			





			o Memorial Park Phase II					BID NO: 2021-0762
BID DA	TE: April 28, 2	V 21		El Pa	Contractors, LLC aso, TX er 7 of 7	L	JEPARTMENT: Ca	pital Improvement
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Al	ternate I		-	
73.	6	EA	Provide and Install Removable Bollards	\$1,107.00	\$6,642.00			
74.	7	EA	Provide and Install Handicap Parking Sign	\$492.00	\$3,444.00			
75.	228,862	SF	Provide and Install Hybrid Bermuda Sod	\$1.19	\$272,345.78			
76.	168	EA	Provide and Install Shrubs, 5 Gal.	\$35.67	\$5,992.56			
77.	132	EA	Provide and Install Trees, 2" Caliper	\$467.40	\$61,696.80			
78.	1	EA	Provide and Install 4" Irrigation Meter	\$24,600.00	\$24,600.00			
79.	1	LS	Provide and Install New Irrigation System	\$281,670.00	\$281,670.00			
80.	1	LS	Provide and Install New Irrigation System	\$5,166.00	\$5,166.00			
81.	1	LS	Provide and Install Plumbing for Pre-Fabricated Restroom	\$15,375.00	\$15,375.00			





BID TIT	ID TITLE: Joey Barraza and Vino Memorial Park Phase II BID NO: 2021-0762								
BID DA	TE: April 28, 2	021					DEPARTMENT: Ca	pital Improvement	
				Pride General	Contractors, LLC				
				El Paso, TX Bidder 7 of 7					
ltem No.			Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals					
			• •	Additive Al	ternate I				
82.				Left Blanl	Intentionally				
	Sum Total – Additive Alternate I (Items 1-82)				8,024.40 ce: \$3,509,275.22				
	Mobilization (Not to exceed 5% of Sum Total of Base Bid)			\$140	,371.01				
	Sum Total (Additive Alternate I and Mobilization)				8,395.41 ce: \$3,649,646.23				



CITY OF EL PASO REVISED BID TABULATION FORM

Achievement of Excellence 2020 Award Winner

			o Memorial Park Phase II					BID NO: 2021-0762
BID DA	\TE: April 28, 2	2021		Pride General Contractors, LLC El Paso, TX Bidder 7 of 7		[DEPARTMENT: Ca	ipital Improvemen
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Alt	ernate II			
1.	1	LS	Provide and Implement Additional Clearing & Grubbing	\$8,856.00	\$8,856.00			
2.	1	LS	Provide and Implement Additional Approved Traffic Control	\$5,535.00	\$5,535.00			
3.	1	LS	Provide and Install Electrical & Lighting Improvements	\$1,599,000.00	\$1,599,000.00			
4.	1	LS	Provide Earthwork and Grading -Cut to Fill	\$132,840.00	\$132,840.00			
5.	1	LS	Provide Earthwork and Grading -Cut to Waste	\$12,300.00	\$12,300.00			
6.	30	LF	Provide and Install Storm Drainage Improvements - 12"SantiTiteHP Pipe	\$68.88	\$2,066.40			
7.	2	EA	Provide and Install Storm Drainage Improvements - SafetyEnd Treatment	\$4,059.00	\$8,118.00			
8.	1	LS	Provide and Implement Additional Stormwater Pollution Prevention	\$3,690.00	\$3,690.00			
9.	1	LS	Provide Soil Export	\$123.00	\$123.00			





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021

BID DA	TE: April 28, 2					DEPARTMENT: Capital Improvement
				El Pa	Contractors, LLC aso, TX er 7 of 7	
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals	
				Additive Alt	ernate II	
10.	1	LS	Provide and Implement Selective Demolition	\$3,690.00	\$3,690.00	
11.	15,805	SF	Provide and Install 3" Depth Desert Tan or Rainbow Screenings with Weed Fabric Underlayment	\$1.88	\$29,713.40	
12.	200	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depthwith Weed Fabric Underlayment	\$1.92	\$384.00	
13.	11,540	SF	Provide and Install Engineered Wood Fiber, 12" Depth	\$3.54	\$40,851.60	
14.	5,720	SF	Provide and Install Broom Finished Concrete 4" Depth	\$6.15	\$35,178.00	
15.	5,050	SF	Provide and Install Bomanite Sandscape Finished Concrete4" Depth	\$11.07	\$55,903.50	
16.	1,860	SF	Provide and Install Salt Finished Concrete - 4" Depth	\$6.77	\$12,592.20	
17.	1,660	LF	Provide and Install - Chain Link Fencing 6ft high	\$69.86	\$115,967.60	
18.	1,750	LF	Provide and Install 8" Depth Concrete Curb Mow Strip	\$14.64	\$25,620.00	



Achievement of In Procurement 2020 Award Winner hpi

	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II				E DEPARTMENT: Ca	BID NO: 2021-0762
				El Pa	Contractors, LLC aso, TX er 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Al	ternate II			
19.	4	EA	Provide and Install Chain Link Gates - 5 ft wide, 6 ft. ht.	\$799.50	\$3,198.00			
20.	2	EA	Provide and Install Chain Link Gates - 10 ft wide, 6 ft. ht.	\$1,599.00	\$3,198.00			
21.	1	EA	Provide and Install ADA Compliant 3 Seats Picnic Table and Metal Canopy	\$16,443.13	\$16,443.13			
22.	1	EA	Provide and Install 4 Seats Picnic Table and Metal Canopy	\$16,971.54	\$16,971.54			
23.	6	EA	Provide and Install Aluminum Bleachers with Galvanized SteelChain Link Guardrail	\$8,825.25	\$52,951.50			
24.	3	EA	Provide and Install TrashReceptacle	\$1,592.85	\$4,778.55			
25.	32	EA	Provide and Install Shrubs, 5 Gal.	\$35.67	\$1,141.44 Contractor's Price: \$1,441.44			
26.	76	EA	Provide and Install Trees, 2"Caliper	\$448.95	\$34,120.20			
27.	210,090	SF	Provide and Install HybridBermuda Sod	\$1.19	\$250,007.10			





BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID NO: 2021-0762 BID DATE: April 28, 2021 **DEPARTMENT: Capital Improvement** Pride General Contractors, LLC El Paso, TX Bidder 7 of 7 **Total Amount** (Quantity X Approx. **Unit Price** Unit Price) Item Unit **Brief Description of Item** Do Not Round Quantity (In Figures) No. **Only Two** Decimals Additive Alternate II LS Provide and Install IrrigationSystem Additions 28. 1 \$183,270.00 \$183,270.00 Provide and Implement 29. LS \$9,840.00 \$9,840.00 1 Additional Mobilization/Demobilization \$2,668,348.16 Sum Total – Additive Alternate II (Items 1-29) Contractor's Price: \$2,668,617.36

Approved By:___/s/____

Date: 5/24/2021





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID DA	TE: April 28, 2	2021					DEPARTMENT: Ca	pital Improvement
					Contractors, LLC Iso, TX			
					er 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Alt	ernate III	 _		
1.	1	LS	Provide and Install Pre-Fabricated Restroom Building and Foundation	\$244,800.75	\$244,800.75			
2.	775	SF	Provide and Install 1" Desert Tanor Rainbow Rock Mulch, 3" Depth with Weed Fabric Underlayment	\$1.49	\$1,154.75			
3.	400	SF	Provide and Install Broom Finished Concrete -4" Depth	\$6.15	\$2,460.00			
4.	40	LF	Provide and Install 18" High RockWall with Footing & Concrete Cap	\$270.60	\$10,824.00			
5.	1	EA	Provide and Install DrinkingFountain	\$14,319.66	\$14,319.66			
6.	1	LS	Provide and Install Electrical to supply Pre-Fabricated Restroom	\$15,375.00	\$15,375.00			
7.	1	LS	Provide and Install Plumbingimprovements to supply Pre-Fabricated Restroom	\$17,220.00	\$17,220.00			
8.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$3,690.00	\$3,690.00			
9.	1	LS	Provide and Implement Additional Approved Traffic Control	\$3,075.00	\$3,075.00			





	BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021 DEPARTMENT: Capital Improvement								
				Pride General Contractors, LLC					
				El Paso, TX Bidder 7 of 7					
ltem No.	··· Init Briat Description of Itam			Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals				
				Additive Alt	ernate III				
10.	10. 1 LS Provide and Install IrrigationSystem Addition			\$30,750.00	\$30,750.00				
	Sum Total – Additive Alternate III (Items 1-10)			\$343	,669.16				





BID NO: 2021-0762

BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID DA	TE: April 28, 2	2021					I	DEPARTMENT: Ca	pital Improvement
				El Pa	Contractors, LLC aso, TX er 7 of 7				
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals				
				Additive Alt	ernate IV	•		•	
1.	1	EA	Provide and Install Healthbeat Elliptical	\$14,071.20	\$14,071.20				
2.	1	EA	Provide and Install Healthbeat Pull Up Dip	\$4,245.04	\$4,245.04				
3.	1	EA	Provide and Install Healthbeat Chest/Back Press	\$9,995.29	\$9,995.29				
4.	1	EA	Provide and Install Healthbeat Balance Steps	\$4,997.65	\$4,997.65				
5.	1	EA	Provide and Install Healthbeat Squat Press	\$9,995.14	\$9,995.14				
6.	1	EA	Provide and Install Healthbeat ABCrunch/Leg Lift	\$4,126.65	\$4,126.65				
7.	1	EA	Provide and Install Healthbeat Cardio Stepper	\$12,481.43	\$12,481.43				
8.	1	EA	Provide and Install Healthbeat Plyometrics	\$4,997.64	\$4,997.64				
9.	1	EA	Provide and Install Fitcore Globed Grasp Overhead	\$7,720.56	\$7,720.56				





	BID NO: 2021-0762 BID DATE: April 28, 2021 DEPARTMENT: Capital Improvement								
	· · ·			El Pa	Contractors, LLC aso, TX er 7 of 7				· · · ·
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals				
				Additive Alt	ernate IV				
10.	1	EA	Provide and Install Angled Overhead Ladder	\$9,893.81	\$9,893.81				
11.	1	EA	Provide and Install Fitcore WheelBridge Overhead	\$6,485.94	\$6,485.94				
12.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$3,690.00	\$3,690.00				
13.	1	LS	Provide and Implement Additional Approved Traffic Control	\$2,460.00	\$2,460.00				
	Sum Total – Additive Alternate IV (Items 1-13)			\$95,	160.35				





BID NO: 2021-0762 BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID DATE: April 28, 2021 **DEPARTMENT: Capital Improvement** Pride General Contractors, LLC El Paso, TX Bidder 7 of 7 **Total Amount** (Quantity X Unit Price Unit Price) Item Approx. Unit **Brief Description of Item** Quantity (In Figures) Do Not Round No. **Only Two** Decimals Additive Alternate V LS 1. 1 Provide Earthwork and Grading \$18,450.00 \$18,450.00 **Provide and Implement Selective** LS 2. 1 \$1.845.00 \$1.845.00 Demolition Provide and Implement AdditionalTraffic LS 3. 1 \$1,845.00 \$1,845.00 Control Provide and Install 1" Desert Tanor Rainbow SF 7.675 Rock Mulch, 3" Depthwith Weed \$1.92 4. \$14,736.00 Fabric Underlayment Provide and Install 2"-4" AntiqueGrey Rock 5. 7.205 SF Mulch, 4" Depth with Weed \$1.88 \$13,545.40 Fabric Underlayment Provide and Install - Chain Link Fencing 215 LF \$69.86 \$15,019.90 6. 6ft high Provide and Install 8" Depth Concrete LF 7. 343 \$14.76 \$5,062.68 Curb Mow Strip Provide and Install Chain Link 8. 2 ΕA \$799.50 \$1,599.00 Gates - 5 ft wide, 6 ft. ht. Provide and Install Chain Link 9. 4 ΕA \$2,398.50 \$9,594.00 Gates - 15 ft wide, 6 ft. ht.





	LE: Joey Barr TE: April 28, 2		o Memorial Park Phase II				B DEPARTMENT: Ca	ID NO: 2021-0762
	<u>12. April 20, 2</u>	021		El Pa	Contractors, LLC aso, TX er 7 of 7			
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals			
				Additive Alt	ernate V			
10.	2	EA	Provide and Install Chain Link Gates - 5 ft wide, 8 ft. ht	\$922.50	\$1,845.00			
11.	27	EA	Provide and Install Shrubs, 5 Gal.	\$35.67	\$963.09			
12.	9	EA	Provide and Install Trees, 2"Caliper	\$448.95	\$4,040.55			
13.	9,040	SF	Provide and Install HybridBermuda Sod	\$1.19	\$10,757.60			
14.	9,040	LS	Remove and Relocate Existing Rock at Skate Park	\$1.23	\$11,119.20			
15.	1	LS	Provide and Install IrrigationSystem Additions	\$15,990.00	\$15,990.00			
16.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$1,845.00	\$1,845.00			
	Sum Total – Additive Alternate V (Items 1-16)		litive Alternate V (Items 1-16)	\$128	,257.42			





BID TITLE: Joey Barraza and Vino Memorial Park Phase II BID NO: 2021-0762 BID DATE: April 28, 2021 **DEPARTMENT:** Capital Improvement Pride General Contractors, LLC El Paso, TX Bidder 7 of 7 **Total Amount** (Quantity X **Unit Price** Unit Price) Item Approx. Unit Brief Description of Item No. Quantity (In Figures) **Do Not Round Only Two** Decimals Additive Alternate VI Provide and Install New Prefabricated LS \$595,964.52 \$595,964.52 1. 1 Office/MaintenanceBuilding 2. 1 LS Earthwork and Grading - Cut to Fill \$3.690.00 \$3.690.00 3. LS Earthwork and Grading - Cut to Waste \$3.690.00 \$3.690.00 1 PR 4. 15 Standard Rockwall \$202.95 \$3,044.25 100 LF Standard Rockwall Footing 5. \$18.45 \$1,845.00 Provide and Implement Additional LS 6. 1 \$3,690.00 \$3,690.00 Stormwater Pollution Prevention Provide and Implement Additional LS 7. \$3,075.00 \$3,075.00 1 Approved Traffic Control 8. 1 LS **Provide Selective Demolition** \$2,460.00 \$2,460.00 Provide and Install Broom Finished 9. 1 SF \$6.15 \$6.15 Concrete - 4" Depth





BID TITLE: Joey Barraza and Vino Memorial Park Phase II

BID NO: 2021-0762

BID DA	BID DATE: April 28, 2021 DEPARTMENT: Capital Improvement								
				Pride General Contractors, LLC El Paso, TX Bidder 7 of 7					
ltem No.	Approx. Quantity	Unit	Brief Description of Item	Unit Price (In Figures)	Total Amount (Quantity X Unit Price) Do Not Round Only Two Decimals				
				Additive Alt	ernate VI				
10.	1	LS	Provide Electrical Improvements to supply Office/Maintenance Building	\$9,225.00	\$9,225.00				
11.	1,099	SF	Provide and Install HybridBermuda Sod	\$1.60	\$1,758.40				
12.	1	LS	Provide Plumbing Improvementsto supply Office/Maintenance Building	\$16,605.00	\$16,605.00				
13.	1	LS	Provide and Install IrrigationSystem Revisions	\$2,460.00	\$2,460.00				
14.	1	LS	Provide and Implement Additional Mobilization/Demobilization	\$4,305.00	\$4,305.00				
	Sum Total – Additive Alternate VI (Items 1-14)			\$651	,818.32				

2021-0762 Joey Barraza and Vino Memorial Park Phase II

b		
1	Garcia, Alfonso	1988
2	Skertchly, Edgar	AAA General Contrato
3	Gallegos, Mari	Abescape
4	Counts, Tim	Accent Landscape Con
5	Dittmar, Mark	Access Communication
6		
	Aceves, Victor	Acebo Solutions, LLC
7	Allen, Miguel	Allen Concrete, Inc.
8	Chacon, Salvador	Allied Paving Compan
9	Undzis, Maureen	AM Signal, Inc.
10	Gomez, Priscilla	American Pavement Pr
11	Aragon, Yvonne	AMPTX Electric
12	Rugh, John	AMTEK
13	martinez, ryan	ARS landscaping corp
14	Apodaca Jr, Victor D	Ask Vic LLC
15	herrera, cesar	asphalt pavers inc.
16	Marcum, TJ	AstroTurf
10	Shane, Coler	Aztec Contractors
18	Velasco, Mario	Bain Construction
19	Stresow, Adrian	Banes General Contra
20	Williams, Mark	Barrier Fence LLC
21	Esparza, Isidoro	Basic IDIQ.Inc
22	Luna, Larry	Bella Luna Engineeri
23	Perez, Melissa	Beltran Electrical C
24	Guardado, Carlos	Best Ironworks
25	Bid, Judge	BidJudge.com
26	Luna, Hector	Black Stallion Contr
27	Acosta, David	Border Demolition An
28	Hessney, Steve	Bowen Industrial Con
29	Caballero, Luis	Caballero Electric C
30	Concha, David	CEA Group
31	Ponzio, Ronnie	ced
32	Damek, Mitch	Champion Fuel Soluti
33	comaduran, richard	comaduran constructi
33	Wilbanks, Ben	Compound Design
		· · · · ·
35	Kyle, Bellomy	ConstructConnect
36	Gibson, Patty	construction Bid Sou
37	Exton, Pamela	Construction Journal
38	Wood, Jane	Construction Reporte
39	Edwards, Bill	Contech
40	TYREE, BRUNO	CONTRACTOIRS & ENGIN
41	Deg, Maria	Contractors Register
42	Buccaran, Joseph	Convertgint Technolo
43	Kish, Julie	Creative Academics L
44	Oney, Hilary	CSA Constructors
45	Mondello, Shannon	Dantex General Contr
46	HARRISON, MIKE	DEL MAR CONTRACTING,
47	Delgado, Alberto	Delgado's Repair
+/		

Views List

2021-0762 Joey Barraza and Vino Memorial Park Phase II

48	Management, Source	Deltek
49	Hudson, Brad	Direx Construction,
50	Peggy, Koehn	Dodge Data
51	Soto, Daniel	DRS Rock Materials,
52	Ragan, Bill	DUGOUTS USA
53	Massie, Scott	DYNAMO PLAYGROUNDS
54	Erick, Osorio	ecoReach, Inc.
55	carrillo, oscar	El Paso Bestway Cons
56	Castro, Patricia	El Paso JAG
57	Soto, Lorena	El Paso Sanitation S
58	Ramirez, Christina	Emerald Mechanical C
59	Dominguez, Luis	Enotsyek
60	Armando, Saldivar	Ep Western Electric
61	McKean, Michelle	Exerplay
62	Jaramillo, Jorge	Fulcrum Contracting
63	Rivas, Fernando	GCC Sun City Materia
64	Chavez, Mario	Globe Builders llc
65	Sambrano, Michael	Gracen Eng. And Cons
66	Lyndaker, Robert	Grand Slam Safety, L
67	Melendez, Fred	Graybar
68	Melvin, Craig	GreenBlue Urban
69	Mayberry, Denise	Hammer And Steel, In
70	Jorge, Ojeda	НАЖК
71	Mulligan, Matthew	HB Construction
72	Menefee, Kim	Hellas Construction
73	Mejia, Saul	Horizone Constructio
74	Ortiz, Lupe	HRT Roofing And Cons
75	Balai, Rakesh	i- Sourcing Technolo
76	Lopez, Michael	IAndR Construction
77	Molina, Marcos	International Eagle
78	Espino, Ruben	IQP CANOPIES LLC
79	Ramirez, Sal	J Carrizal Construct
80	Guillermo, Ovies	J.A.R
81	Soto, Mauro	JMR Demolition
82	Lowrance, Gloria	Jobe Materials, L.P.
83	Figueroa, Joseph	Jordan Foster Constr
84	Yakorevsky, Ella	KEAndG Construction
85	Guillen, Francisco	Keystone GC, LLC.
86	Puente, Ed	Kraftsman Commercial
87	Soto, Mauro	LAC Construction
88	Naranjo, Lizandro	Lizandro Naranjo
89	Olague, Bernardino	LOI ENGINEERS
90	Gonzalez, Ruben	Lomeli and sons Land
91	GUTIERREZ, MANNY	MANNY'S LANDSCAPE AN
92	Lopez, Manny	Manroe Allied Contra
93	mota, pablo	Martinez Brothers Co
94	martinez, avelardo	martinez irrigation

Views List

2021-0762 Joey Barraza and Vino Memorial Park Phase II Views List

95	matyear, william	matco
96	Tanzy, Russell	Mesa electrical cont
97	Alonso, Mario	Mirador Enterprises
98	Ortiz, Cano	Mr.
99	Drapes, Michael	MTI Ready Mix
100	Martinez, Joe	MTZ Precision Contra
101	Nevarez, Christy	Noble General Contra
102	MELENDEZ, OSWALDO	NOMA COMMERCIAL LAND
103	Kopinsky, Juan	Peek Traffic
104	Lopez, Rafael	Perikin Enterprises,
105	Regalado, Peter	Phoenix General Cont
106	sumners, cheryl	Play by design inc
107	Walls, Jason	Premier Coating
108	becker, phil	Premium Park Product
109	Salgado, Ramon	Pride General Contra
110	Ortiz, Lupe	Prime Irrigation And
111	Jones, Kim	Prime Vendor Inc.
112	Carla, Kraus	Public Restroom Comp
113	Ramirez, Adrienne	Quantum Engineering
114	Morris, Bryan	RBM Engineeering, In
115	colmenero, robert	rc enterprises inc
116	urteaga, Ernesto	RCPM
117	Valdespino, Carlos	Roman Construction
118	Javier, Salcedo	S.Roberts Iron Works
119	dsf, sdfa	sdaf
120	HOPKINS, FRANK	SELS USA LLC
121	Hradek, Deborah	Sites Southwest, LLC
122	Bjornsson, Ron	Smartprocure
123	Adair, Cindy	Southern Bleacher Co
124	Vasquez, Gustavo	Southwest Drywall An
125	Romano, Crystal	Southwest Hazard Con
126	ALLEN, STEVE	SPARTAN CONSTRUCTION
127	Ball, Dan	Spencer Construction
128	Yahve, Gallegos	Star Pavers Construc
129	Rosales, Angelica	Sundt Construction
130	McMillan, Matthew	SWCA Environmental C
131	Walling, Allison	The Office of James
132	Hernandez, Cecilia	The PlanIt Room
133	Popenoe, Jeff	The PlayWell Group,
134	Diaz, Christian	TIA Facility Service
135	Enriquez, Angelita	Traffic Barricade Se
136	romero, ron	triple m recreation
137	Motta, Alejandro	Tri-State Electric,
138	Serrano, Victor	Veliz Construction
139	Ruiz, Erika	Vertex Contractors,
140	Diaz, Rebeca	Vesta Rea And Associ
141	Olguin, Jeannette	Vitual Builders Exch

2021-0762 Joey Barraza and Vino Memorial Park Phase II Views List

	T	
142	Austin, Fork	Wayne Enterprises
143	Garcia, Mark	Win Supply
144	Vaquera, Israel	yucca contracting
145	Acosta, German	Zayza Irrigation And
146	Construction, Ztex	Ztex Construction
147	Banquil, Lovely	
148	Courtney, Goulding	
149	Hernandez, Alberto	
150	James, Hardison	
151	Martinez, Jessica	
152	RAMIREZ, ARTURO	
153	Watson, Frank	